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GENERAL SCIENCE

CLASS: VII
BLUE PRINTS
L.A. S.A. VS.A. M.C.Q. Total
AS1 2 (8) 1(4) 12 10(1) 32
AS2 - 1(4) 1) 2(1) 8
AS3 1(8) - 12) 2(1) 12
AS4 - 2(4) - 4(1) 12
ASS 1(8) - - - 8
AS6 - 1 (4) 1(2) 2(1) 8
TOTAL 32 20 8 20 80
CLASS : VIII
L.A. S.A. VS.A. M.C.Q. Total
AS1 2x4=8 | 1x2=2 1x1=1 10x % =5 16
AS2 - 1x2=2 1x1=1 2x =1 4
AS3 1x4=4 - 1x1=1 2x =1 6
AS4 - 2x2=4 - 4x =2 6
ASS 1x4=4 - - Nil 4
AS6 - 1x2=2 1x1=1 2x =1 4
TOTAL 16 10 4 10 40
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PHYSICAL SCIENCE

CLASS - IX
BLUE PRINT
Marks Eassy type | Short [Veryshort| M.C.Q. No. of
Alloted Answer | Answer Questions
AS1 16 2(8) 1(2) 1(1) 10(5) 14
(40%) P+C P C 5P+5C
AS2 4 - 1(2) 1(1) 2(1) 4
(10%) C P 2P
AS3 6 - 2(4) 1(1) 2(1) 5
(15%) P+C C 2P
AS 4 6 1(4) - - 4(2) S
(15%) PorC 4C
ASS 4 1(4) - - - 1
(10%) diagram
PorC
AS6 4 - 1(2) 1(1) 2(1) 4
(10%) PorC P 1P+1C 4
40 4(16) 5(10) 4(4) 20(10) 33
Joe S

1.

2.

gPOE0 SPEBOT® (DHOD ATogHSreare errdorr Eéﬁéaz)éﬁ OISPEO GOLIRD.

F8E, BIHS ReoB DEPS (PBHOBE BWeV)SH Be3000 528050,

©) FPTLOTOL TP DKoM Sretnen Beron0SE5BL0.
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@ ©
5‘536@;3&» AS-1 AS-1I | AS-IIT | AS-IV | AS-V | AS-VI | Total
e Sogg | 1,5,10, 11| 2,6 3,12 7,8 13 4,9
14, 16,18 | 17,24 | 15,33 28 19, 27
20-23, 25, 30-32
26
BEPon0 DD 32 08 12 12 08 08 80
HooBRe0
OROTANY
HooBnen
R
PART-A 60 Marks
SECTION -1
S5 & 800 (BHo Tol Toe Hwrtd e’ Jirmrres TAHSB.

(58 DG 2 Srtnen. 4X2 = 8 Srdnen

1 DBEE (8500 $0H5R8 76 Bod SIPcHTe DB B SDRPA0 JGPdo TocsHEn?

(AS-1)
2 BHHH Ko BHOP IPI FoY QDDHB0H? (AS-2)

3 %’bo&éwgo EFTefetoN 1%26&2665 8286 @Ug@oé&@éa Zoso (HRPKE® Y SHRPA0DD BIcHS
HTBsw, HOETORG T (AS-3)

4 B B Dot S D DoSEmon ob D S Fdto wrh FEHR08?
oS D9 % I:H? (AS-1)
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SECTION - II

ISE 808 PBHoH Hlomr Jdrgraren TPabod.
(58 BEHSH 4 Srtnen. 5X4 = 20 SrEnen
Derses B8)Ed8 Hogrsed $8)ed8 Ko Bwes? (AS-1)
HFPS OITIN? ©b Jew QEYHE0D @ BenE LB TerdStadey 0 Jerod (B
5HEH? (AS-2)
155y Sod &028 HBB 2.8 (o Eﬁéoq&@@\ 808 (PHE® 50, el esgrdorr & H88ekesd
o°0%08. (AS-4)
X
80
70
L)
9 60
«3
8 50
\Ig 40
®.30
Y3
20
10
0
STabo ?o?ggoaas @523&5 J3H02b &o08 Y
Ioen

NGy H0d m@o@’g’@ D& éo;éi ©ed 8)253%590, 0 d 63180 000D JJreardo
VEBOTORHTND. HAB HRS HIrTE HEE ST TPahod. (AS-4)

OENHOD FRHrSE ¢3H08B H0H) WotrET! eiHe $08F% S0l I8 Eéagen
EenrheHaom. 8D @Gé%mﬁé 89 derod $8ge0 3&)6’.}3@50 FPARTND? ST TPerd
SedoPSo’. (AS-6)
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SUMMATIVE ASSESSMENT- II1

MODEL QUESTION PAPER
GENERAL SCIENCE

Class: 7 Marks : 80
Time: 2hrs. 30 min,

Cal i A

AS-1 AS-1I1 | AS-TIT | AS-IV | AS-V | AS-VI | Total
S.No.of | 1,5,10,11] 2,6 3,12 7,8 13 4,9
Questions | 14, 16, 18| 17,24 | 15, 33 28 19, 27
20-23, 25, 30-32
26

Marks 32 08 12 12 08 08 &0

Marks

Secured

Grade

PART- A
SECTION -1

(4 x 2 =8 Marks)
Answer the following questions in two or three sentences
Each question carries TWO Marks.

Name two chemicals used to disinfect the water?
What happens if stomata leaves of a gree plant are coated with 0il?
Name the chemical substance that used to fonfirm the presence

If you see water running off from a public tap what would you do about it?

SECTION - 11
(4 x 5 =20 Marks)
Answer the following questions in three or four sentences.
Each question carries FIVE Marks.
What are the differences between convex and concave mirrors?

What is cyclone and its effects on environment? What type of questions would you ask
persons in the meteorological station about it?
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7.

10.

11.

Rain Fall in m.m.

X

Observe the graph showing rainfall (in mm) of a place from August to December. Write
down the observations from it?

80
70
60
50
40
30
20
10

0

August September October ~ November December Y
Months

You want to collect information about forest area and forest products in our State. For
this prepare a model information table.

Forests are lungs of our mother earth. They are so many problems due to deforestation.
to over come this what suggestions you would like to implement. Suggest any four of
yours.

SECTION - III

(8 x 4 =32 Marks)

Answer the following questions. Each question carries 8 Marks

You learnt that if all parts of a moving body move in the direction of motion is said
translatory motion. In addition to this what are, the other types of motions?
Explain them with suitable examples.

(or)
Do all flowers have same parts? Give examples of some flowers and explain your
answer?

Explain you understanding about various stages in making of wool.

(or)
List our the food components which are present in the mid-day-meal served at your
school. Is it balanced diet? Support your answer?
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12.

13.

Prepare a list of natural indicators and chemical indicators. Write the uses of those
indicators in a tabular form.

(or)
Read the following passage. Correct it into a tabular form.

Soil is make up of distinct horizontal layers called Horizons. They are devided
into O, A, E, B, C and R horizons. O - horizon made of mostly of humus, Plant
roots can grow in A - horizon. Water drips through E - horizon. B - horizon is also
called subsoil. C - horizon consists of slightly broken up bedrock where as
R - horizon have unweathued Rock.

Draw the diagram of a Anemometer and mention its uses?
(or)

Label the parts of Datura flower drawn here

Explain in what way part-2 helps to flower.
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PART-B
SECTION - 1V

(20 x 1= 20 Marks)

Put correct answer in the brackets given below

14. Which food material is rich in fat? ( )
A) Potato B) Milk C) Ghee D) Biscuit
15. Identify the correct statement. ()

A) If one bulb is fused off all the remaining bulbs glow in series circuit

B) If one bulb will not glow the remaining bulbs also will not glow in series circuit
C) If one bulb will fuse off the remaining bulbs will not glow in parallel circuit.

D) All the bulbs will glow in parallel circuit

16. Movement of minutes hand in a clock. ( )
A) Translatory B) Oscillatory C) Rotatory D) Periodic
17. Incorrect statement (of the following questions) ()

A) Second in the unit of Time

B) All the objects have similor movements

C) Speed of a car is measured in kilometers / hour

D) Total movement of vehicles is not with same speed.

18. Insectivorous plant ( )
A)Rosa Sinesis  B) Nepenthes C) Teak D) Aloe Vera

19. Chemical name which is used in the preparation of Cake ()
A) Salt B) Washing Soda  C) Cooking Soda D) Potassium

20. Lungs of the earth ( )
A) Forests B) Seas C) Deserts D) Towns

21. Energy giving food substances. C )
A) Carbohydrates B) Proteins C) Vitamins D) Water

22. Acid present is curd ( )
A) Lactic Acid B) Acetic Acid  C) Citric Acid D) Venigar

23. Normal body temperature of a man ( )
A)38°C B)37°C C)36°C D) 40°C
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24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Choose the correct statement. ( )
A) Substances will reduce on heating

B) Substances will not dissolves on heating

C) Substances will contract on heating

D) Substances will retract on heating

The dampness of airis called..................... ( )
A) Pressure B) Humidity C) Evaporation D) Diffusion
Kind of cloth that protects is from cold ( )
A) Cotton B) Silk C) Wool D) Polyester
Which is a true statement. ( )

A) Fibre food material causes constipation

B) Fibre food material is a factor of constipation
C) Fibre food material eliminates constipation
D) Fibre food material is present in rice.

Which kind of soil retains the water molecules? ( )
A) Clay B) Sandy C) Loam Soil D) Gravel

Metal that rusts due to the exposure of humidity ()
A) Iron B) Gold C) Steel D) Aluminum

Statement which is not true ( )

A) The humidity of Vijayawada is more that Hyderabad
B) The humidity of Nellore in more than Ananthapur

C) The humidity is more at Costal areas during summer
D) The humidity is less in Kakinada than Kadapa

Which line denotes positive pole in a cell ()
A) Long B) Width C) Short D) Arrow

Increase in the number of images can be done by ( )
A) Reducing the number of mirrors B) Reducing the angle of mirrors

C) Not to increase the number of mirrors D) Increase the angle of mirrors

The amount of heat liberated through the filament in an electrical appliance depends on -

-------- ()
A) Type of wire B) Thickness of wire

C) Nature of wire D) Color of wire
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SUMMATIVE ASSESSMENT - 111

MODEL QUESTION PAPER
BIOLOGICAL SCIENCE
Class: 8 Marks : 40
Time: 2hrs. 45 min.
AS. I I 11 v \% VI Total
Number of Questions
Allotted Marks 16 4 6 6 4 4
Marks obtained
Grade
Marks: 30
Instructions:
@) The question paper comprises of FOUR Sections.i.e., I, I, IIT and I'V.
(ii) All Questions are compulsory.
(iii) There is no overall choice\. However there is internal choice to the
questions under section - I11.
(iv) In the time duration of 2 hrs. 45 minutes, 15 minutes of time is exclusively
allotted to read and understand to question paper.
SECTION -1
(4 x 1 =4 Marks)
Note:
(1) Answer all the questions
(i1) Each question carries ONE Marks.
(iii)  Answer each question in 1 or 2 sentences.
1. How can you differentiate prokaryotic cell with that of eucaryotic cell? (AS1)
2. What would happen if all the organisms stop the process of Reproduction? (AS2)
Sambhitha found a tadpole in a pond. She collected it carefully and put it in an aquarium
supposing it a fish. After some days what did the find and why? (AS3)
4. You know that early marriage is a social taboo. Prepare two slogans to prevent this?
(AS6)
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Note:
()

SECTION - 11
(5 x 2 =10 Marks)

Answer all the questions

(i) Each question carries TWO Marks.

(iii)  Answer each question in 4 to 5 sentences.
What happens when two animals having similar habits share one ecosystem?  (AS-1)
What questions would you pose to know more details about cloning? (AS-2)
List out producers, consumer and decomposers that you observed in your
agricultural field or school garden? (AS-4)
Clear and transparent water is always suitable for drinking comment? (AS-6)
0. Study the table and answer the questions? (AS-4)
Name of the Disease Causative Mode of Preventive
Micro Organism | Transmission measures
Tuberculosis Bacteria Air Vaccination
Chickenpox Virus Air Vaccination
Dengue Virus Mosquitoes Use mosquito nets
and repellents
Cholera Bacteria Contaminated personal hygene
water and food | and good sanitary
habits
Malaria Parasite Mosquitoes Use mosquto nets
(1) Which diseases can be prevented by using mosquito nets?
(i1) Name the diseases transmitted by Air?
SECTION - III
(4 x 4 =16 Marks)
Note:
(i) Answer all the questions
(ii) Each question carries FOUR Marks.
(iii)  There is internal choice for each question. Only one option is to be attempted,
(iv) Answer each question in 8 to 10 sentences.
10. Which organisms are interlinked between living and non living organism? Why do you

think so? (AS-1)
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11.

12.

(@)

(or)

What do under stand by food web? Describe it with your own words with the help of a
diagrammatic representation? (AS-1)
What is natural manure? How could you prepare it? Give two examples? Why is it called
eco-friendly? (AS-1)
(or)
Road side plants cannot grow properly - Find your own reasons and explain to support
your arguments? (AS-1)
Write the procedure of the experiment conducted by you in your laboratory to
observe the lactobacillus bacteria in curd? (AS-3)

(or)
We prepared slides of onion and cheek cell in our lab to observe cell structure and the
nucleus. Answer the questions based by the experiment.

While we place the onion peel on the slide, it should not be folded before having
covered it with cover slip. Why? What precautions will you take for it?

(i1) Why should we stain onion peel and cheek cells with safraninormethylene blue?

(iii)  Why do we remove excess stain before observing under microscope.

(iv) Why do we wash our mouth cleanly, before and after scrapping the inner surface

13.

(1)
(ii

of cheek to collect cheek cells?

Draw the diagram of female reproductive system and label the parts? Write the functions
of fallopian tube. (AS-5)

(or)

Observe the diagram and answer the questions

Name the parts A, B, C and D

) Which part helps in conduction of water? (AS-5)
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PART - B
SECTION - 1V

(20 x 2 =10 Marks)

Note:

(i) Answer all the questions
(i) Each question carries 2 Mark.
(iii)  Answer should be written on question paper itself

Choose the right answer.

14. Cell was discovered by (G
A)Robert Brown B) Robert Hooke  C)Leeuwenhoek D) Kircher

15. Pathogenic micro-organisms like bacteria present in host cells are killed by
medicines called C )
A) Pain killer B) Antibodies C) Antibiotics D) Vaccines

16. The disease caused by a protozoan and spread by an insect is ( )
A) Dengue B) Chikungunya C) Malaria D) Swine flue

17. Who synthesited Aureomycin ( )
A)Y. Subba Rao B) Flemming C) Joans Salk D) Jenner

18. Which an oviparous among the following. ( )
A) Cow B) Pig C) hen D) elephant

19. Reproduction by budding takes place in ( )
A) Hydra B) Amoeba C) Paramecium D) Bacteria

20. In human beings, after fertilisation, the structure which gets embedded in the wall of
uterus is C )
A) Ovum B) Sperm C) Foetus D) Zygote

21. AIDS can spread from an infected person to another person through ()
A) Sharing food B) Blood transfusion
C) Sharing comb D) Mosquito bite

22. The sytem of irrigation where water is supplied drop by drop near the roots of plant is
called. C )
A) Pulley system B) drip system
C) Sprinklers system D) lever system
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23.

24.

25.

26.

27.

28.

29.

Which following tool would a farmer use to remove weeds from the field
A) harrow B) plough C) Axe D) Cultivator

Choose correct answer from the following matching

1. Testes ( ) (1) Estrogen

2. Endocrine gland ( ) (i1)  Pituitary

3. Menarche ( ) (iii)  Sperm
(

4. Female hormone ) (iv)  release of ova for first time
A) 1-iii, 2-ii, 3-1v, 4-i

C) 1-ii, 2-1, 3-iii, 4-iv

B) 1-i, 2-ii, 3-iv, 4-iii
D) 1-i, 2-iv, 3-iii, 4-ii
(1) X-Animal does not have external ears.

(i1) Y- Animal does not have external ears

using above information which one oviparous and which one is viviparous according to

the information given above
A) i-oviparous, ii-viviparous B) i-viviparous, ii-oviparous

C) Both i and ii viviparous D) Both i and ii oviparous

Which is endemic to New zealand
A) Kangaroo B) Kiwi C) Peacock D) White tiger

(1) Seema has added one tea spoon curd to hot milk.
(i1)) Ramana has added one tea spoon curd to lukewarm milk.
(iii)) Meena has added one tea spoon curd to cold milk

Whose milk is supposed to turn into curd

A) Seemas B) Ramana’s

C) Meena’s D) Non of the above

A student collected some diseased plants. In which plant he may be observe Tikka
disease.

A) Maize B) Wheat

C) Ground nut D) Coconut

Which of the following is a producer?
A) Fox B) Fungus C)Hen D) Grass
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30.

31.

32.

33.

Observe the diagram and name the process
A) Fertilization B) Fission C)Budding D) Fragmentation

‘ TheRed data book’ containing the details of endangered and threatened species of floure

and fauna is published by
A) World wild life federation
C) State wild life federation

B) Indian wild life federation
D) American wild life federation

The forests that grow in back water low depth areas of sea shore are
A) Mangroves B) Forests

C) Tropical rain forests D) Deciduous forests

Depletion of the ozone layer is caused by
A)CFC B) Oxygen C) Nitrogen D) KFC

48

(

)



QofirerE Hhod - 3
Q&0 @’J%‘a S(&o
£3Ko
$5618:9 Jdockhe: 2:30 Q.

ﬁaé 2.6:'06;2703: 40

@&c@gw AS-1 AS-1I | AS-TII [AS-1IV | AS-V | AS-VI | Total

D€ Doy

BerPo00DS 16 4 6 6 4 4 40
Eﬁﬁé&gy@a
PodI
Eéﬁéo&@a
Ao

BbEo $HHSTETR8 wibor 159 Il StronoSEHod

PART - A
F.Smﬁ:zpa : 30 BHookho: 2 Y2 o1l
SECTION -1
4x1 = 4 S
$eSS: o) B SErTTe ST,

(58 BEHSDH 1 Sody,

DEEE Beeen, aat:2 DeroBo8 Jew dore Goeran?

DE0(BH BH 500D Qés@o‘i)oé‘s &0DB DHHEHos?

HHO (DSBS HB805H XA ©F (DB ot GHBRHEHHB0H?

Fods? Bwégpﬁ)& BB CHIH0Te0. T (H5K0 20HIHOP De* GOoLnond?

= W o=

49



PEOUSIST

10.

11.

12.

SECTION - II

5x2 = 10 Srdyen
o) BHoH SIrgrarer TPaHIBRo.

(58 DG 2 Srnen.
808 #Hod® 80T (KHEE whsroTed dD?
@) & 9EHen &) 2,08 ) TS &) Pdseen
9% S50 50 edsedo é'(s_on 38 26313 TGO 1°0) BB, Jderod ©Eeo
D) ?
ot FBTOE FFE By ol APHBD HRFKODH AEEToTEHET! (HRH HTPHod

LHdore Teahod.

3% Fo S°ené§o O30 HHbo 0&8"2’0@326&625365. S S°ez)?é§ 585P0, 38 Hod 663@8)@@263
Bod B’Jéggéé‘s oPHod

S, Jeo. Pensyy S¥o SPenigderRo

DEgS EPDOHP LT D) eeriden &S0 @508 O Jerod aP(iSen &S 0erH?
SECTION - 111
4x4 = 16 LrBye
o) BHoDH JXrgrarer TSR,
(58 DG 4 Srtyen.
U%'\ao‘i@ PO 2602133"26 a’;@gcgéoen ©pBoe &) @3%063‘5 &0, 8 ® BES Hotrerdo
$08&0m®? Jer Holowes® 2l FOE TPeHos.
&)
@éégézééo@’s (BeEBes 2870 B TeerH YR TR TeHod,
BHen, egchSore, KJ@O@S B K090 Jedes ogerod Teadhol.
&)

& (oo™ BB HBSt NN 8 Eeo S0ED. T Y P00t BHY) JoB&SPonSH
By B8, ©d P GoKkHD). SO DBoHE BB Dol Bhen Qé&é:ﬁ:o& SFeon?

(ESepSoo 10 B8 5me8 O DBLroNS (DFBerion Teadhod. & (Brefos®
GHTPAODS B B o @ DForr JBaHHE0s.

50



13.

(&)
$580-3(®) D 40

200 28 (R0 BHTeO8 2oreHod B0 et orr SairtHERod. 8 Bovtad
(BRrr5od DHIBoBo&. ——

$8)0 ©odB T DGo A grrren KHBoBo. as°a’5°§£56é063‘5
o (Koo foS"grzéaéw.

(&)

}
\
il

Do Lrfoll. BERL e3crendIR0E.
) 80 @ VSIr 900D grrren TeeHod.
ii) BeaBiSiSo e AGED &otnod.

PART - B
éﬁ&&@ : 10

SPSE

14.

15.

o o) B Srgrrer A, B, C, D Srdos® Trohdsd.

o (X8 BB V2 Sy,
DI ( )
A) 38 SS9 B) A, B 88580 C) 088580 D) 885

808 A 238N S08. ( )
a. Bo(%88o ( ) 1. 8)85275
b. Beo ( ) ii. ooed 508
c. B&8eeen ( ) iii. T°2§ (&°S

A) a-i, b-ii, c-iii B) a-ii, b-ii, c-i C) a-iii, b-i, c-i D) a-ii, b-i, c-ii

51



16.

17.

18.

19.

20.

21.

22.

23.

24.

zﬁéééea Do BoKo's® (@80 80d & SnrhHnob.
A) %enoo B) $er& C)&Xo

5,555 8 SENTPEHOD KrY) e SSrerdo DEBoTS. Q8 seSeen SE)SEeEE,

D) ex&

SESIPTFE™ o homrd. DB aren HEEwggsEo 8ob &S® HB?

A) o8l B) &¥bges® sg)en C) A SZ&E

Doty &rdHd FPBOSEDE D0HH0H?
A) P80 Bo&Ben 0BKBH00

D) S&&HHS

B) H0¢y HrHaa& 00l

C) Jo FEH080, TS0 ég@séoo& D) JoFSo 28R, sHrardo 65@263

808 a, b g $58890508.
a. S0l wens ddEsrodione A (@KHome E90b

b. FoG[FE 835 DS 55 o grrios® HED JoHEonod.

A) a, b3Bosr é@éé B) a 3&50 b ed&so
C) a ©3&50 b d&50 D) a, b3o&» @é@éé
235308 Hobrd &TrseSes
1) S0oHEH 2) .&. 58 3) 8.8. Sosecdh 4) .8. DD
A) 1 SrED $BI6 B) 1, 2, 3 &35
C) 3,4 ¥BL D) 2, 3 $BKD
1 2 3 4
westS* g & Bewe 2YOao §05e&
A) 2 B) 1 )3 D) 4

Ben gred HOZen aBHENE D0HH0H?
A) 30650250 B8 B B) S0 66326&863
C) divad é@@ﬁeﬁoo&s

2308090 (HIBS @@o&om @C,S?Sdiazéo SR Ko
A) sgrod B) szcod C) eryod

808 & BHBLok.
a. Qayodd ( ) 1 e, ol deen
b. @88 ( ) ii. ), erereoo
c. @38 ( ) iii. Doarod, Dot

A) a-ii, b-iii, c-i B) a-iii, b-i, c-ii C) a-i, b-ii, c-iii

52

D) J0%H sH0V5 HDHen S0HSE

D) 935S adired

D) a-i, b-iii, c-ii

(

(

(



25.

26.

27.

28.

29.

30.

31.

32.

33.

2.8 8 T Ay ST 6F) DGO B P, G ©bd

A) 68 a’awc.;@zéa 830 3&3&0@&3
B) &0)& ST I BRIEBD
C) &6 DO I8 BHIED

D) ©0$508 BENH &BJ0 BOAS a’awccgo 58 Bewo& Bk

Eo8 68’08 wBIERE DWS

A) DS ‘A’ B) D608 ‘B’ C) &S ‘C

BIrriTes® BBEHB0H SIDBPA0N (Bod HB8eP BaHBS?

A) HBSolgre HB80D B) 3pers $88es
0) ersgss) $68ed D) TOseHoere H080P

D) DS ‘D’

oot Sﬁg&f@ @oiﬁooxﬁaéag SByworr 2EIHEOD EOR0T Beaee0?

A) oiDgresy Seaeee0 B) POR Dgreyy Sevoerer0
C) BB Besere0 D) Eﬁacﬁgé Deresy BeaeP©0

SIEVN B’Jw’c@"o?éa QOSTD Beaere0

A) &8goed B) ©08)5 £°8%0°S C) Q&SRS

HH HBHFO L5 BT (BB
A) 50 B) ($a5e C) 5558

808 B 85585 3360)33)

A) T B) 2028 C) Hiseoen
BodS® RS BOA &) Sewen

A) oteen B) dognsden C) Bo&ars
8o a, b aesegen $88D0508.

a. PL0e USSRV édﬁ)'zbégm@'ss

b. eSS BHS $080 F00D TS Bisesend

A) a, bBodr JH&gm B) a {&5», b eod&gsin
C) a 385w, b S&gn D) a, bBo&r b

53

D) 953b0¢S

D) erg§B)s0

D) (Hdgeen

D) 38



SUMMATIVE ASSESSMENT- 111

MODEL QUESTION PAPER

BIOLOGICAL SCIENCE
Class: IX Marks : 40

Time: 2hrs. 30 min.

Time allotted to read the question paper : 15 min.
PART- A

SECTION -1
(4 x 1 =4 Marks)

(1) Answer all the questions
(i1) Each question carries ONE Marks.

How do monocots differ from dicots?

2. What will happen to a marine fish if kept in fresh water aquarium? Give at least one
reason.
3. In what way tagging is useful to study animal behaviour?
4. If all the plants in a pond die, what consequences will be faced by the animals?
SECTION - II

(5 x 2 =10 Marks)

(1) Answer all the questions
(i1) Each question carries TWO Marks.

5. What special adaptations can be seen in the following organisms?
a) Mangrove trees b) camel c¢) Dolphin  d) Plankton
6. What question will you ask a doctor about commonly faced eye diseases when you get a

chance to call on him?

7. Write the procedure to prepare a semi-permeable membrane in your school lab, that you
have already done?

8. Prepare a table of your own or fill the following table describing land pollution and its
effects.
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9.

10.

11.

12.

13.

SI. No. Pollutant ill effects

What methods would you suggest if you wish to conserve electricity?

SECTION - III
(4 x 4 =16 Marks)

(1) Answer all the questions
(i1) Each question carries FOUR Marks.

Rajayya’s Agriculture field faces a scaree rain and less water availability. Which types of

crop has to be grown by him. Prepare a report that suits him with suggestive methods.
(or)

Prepare a list of incidences where diffusion occurs?

Write general characters that you observer in a) PISCES b) AMPHIBIANS ¢) AVES
(or)

You commonly observe a number of frogs during rainy season in a near by pond. But you

wonder to see their number less in summer. Why ? How the number increase again after
rainy season.

How does the rubber flap help you to conduct an experiment to test audibility?
(or)

Suma cuts a potato as shown in the figure below. Explain what experiment ufv';”'i’ |

she going to conduct and its procedure. i

Draw a neat labelled diagram of the skin. Explain the structure and function of the gland
present in it.

(or)

a) Name the diagram b) Label its parts
c) What are the components of the cell wall?

d) In what way two neighbour cells are attached with each other.
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Part-B
SECTION - 1V

(20 x 2 =10 Marks)

(i) Answer all the questions

(ii) Each question carries 2 Mark.

14.

15.

16.

17.

18.

19.

20.

This blood group can donate blood to every one.
A) A B) AB C) O D) B

Match the following
a) Nucleus ( ) 1. Virchow

b) Cell ( ) 2. Hook

c) New Cells ( ) 3. Robert Brown
A)a-1,b-2,c-3 B) a-2, b-3, c-1 C)a-3,b-2, c-1 D) a-3,b-1, c-2

Classification of organisms starts with domain and ends with
A) family B) genus C) organism D) species

You came to know that CO,, Methane, Co are the prime factors of ozone layer depletion.

Apart from this another chief component responsible for it is
A) O, B) Chloriflouro Carbon C)H,S D) Radiation

What would happen if we don’t follow crop rotation method?
A) Land fertility increases B) yield will be more
C) Soil fertility decreases D) No change occurs

Observe the following sentences

a) Kangaroo rat can live without drinking water throughout its life.
b) Sand grouse, carries water in its crop.

A) a, b both are true B) a true, b false

C) afalse, b true D) a, b both are false

An example for genetically modified food

1. Maize 2. Bt. Cotton 3. Bt Brinjal 4. Bt Chilly
A)only listrue B)1,2,3aretrue C) 3, 4 are true D) 2, 3 are true
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21.

22.

23.

24.

25.

26.

27.

28.

29.

1 2 3 4 C )

Azatobacter Mico Rhicce Pencillium Diatom

Identify the bacteria in the above table

A)2 B)2 0)3 D) 4

What would happen if farmers don’t test soil of their agriculture field ? ( )
A) Unaware of the soil nature B) Can’t cultivate

C) Yielding will be less D) Can’t supplement the soil

The scientific study of animal behaviour is ()
A) Ethology B) Ecology C) Histology =~ D) Animal Biology

Math the following ()
a) Conditioning ( ) 1. Duck and Ducklings

b) Imitation ( ) 2. Dogand Saliva

3. Imprinting ( ) 3. Chimpanzee and fruits

A)a-2,b-3,c-1 B) a-3,b-1, ¢c-2 C)a-1,b-2, c-3 D) a-1, b-3, c-2

If a man tastes an extreme salty food, then ( )
A) He learns eating salty food

B) He likes eating salty food

C) He dislikes eating salty food

D) He can’t recognise the lesser salty food

This Vitamin is helpful for eye ()
A) Vitamin-A B) Vitamin-B C) Vitamin-D D) Vitamin-C
The Rheo leaf'is used in lab for the observation ( )

A) Stomata  B) Plasma membrane C) Epiderm D) Vascular bundle

This tissue present around the edges in a lateral manner and giving rise to growth in the

girth of stem ()
A) Apical meristem B) Lateral meristem

C) Ground tissue D) Cambium

One smell flowers, because of ( )

A) He eats more and plays more
B) He eats less and plays less
C) He eats more and play s less
D) He eats less and plays more
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30.

31.

32.

33.

We smell flowers, because of

A) Diffusion B) Osmosis C) Filtration
These colonies make a reef

A) Hydra B) Jelly fish C) Corals
Rhodopsin is present in

A) Rods B) Cones C) Pupil

Read the following statements carefully

a) Snakes hiss only to scare us

b) Tasmania Devil evolves a bad smell

A) a, b bots are true B) a-true, b-false

C) a-false, b-true D) a, b both are false
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10.

11.

12.

13.
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SUMMATIVE ASSESSMENT - II1
MODEL QUESTION PAPER

CLASS : IX
PHYSICAL SCIENCES

Part A&B

Time: 2hrs. 30 min Marks : 40
SECTION-1

Answer the following Questions Bx1=5M)
1. Classify the following as scalar and vector quantities, given by your teacher is
displacement, velocity, speed, time (AS-1)
2. Raviand Ramu discussing on gravitational force. In their discussion Ravi said gravity on
earth 9.8m/Sec? and ask his firend Ramu what is the gravity at the centre of earth? (AS-2)
Which method is suitable to separate the constituents of ink. (AS-3)
4.  Where do we observe the application of Pascal's Law in daily life (AS-6)

SECTION-1I
Answer the following Questions Bx2=10M)
5. What is the average speed of an athlete, if he covers 36 m. in 4seconds. (AS-1)
6.  When abus approaches bustand, a student observed the changes in velocity of the bus. Write
the questions which had been arisen in student mind on accelevation (AS-2)
7. What will yu do the given iron rail t float on surface of water (AS-2)
Dicribe the consequences faced. If the symbols are not given to the elements by scientists.
(AS-6)
9.  The particals of a solid are packed closely, is the particals in liquids also similar? How can
you explain (AS-3)

SECTION - 1I1
Answer all the question in the following @x4=16 M)
10. State Newton's laws of motion and give one example for any law (AS-1)

(or)

Write a note on density and reletive density and write their units.
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11. Atom model from John Dalton to Somer field. List out the updated points of atomic model
starting from John Dalton to Neils Bohr. (AS-4)
(or)
Write the information which you gathered from internet or another sources on Atomocity
of molecules.
12. a) Define wave length and frequency
b) What is the frequency of sound of wave length 5 m. and speed 340 m/s (AS-1)
(or)
a) What is evaportion and which factors are influence on evaportion?
b) Convert 27°C into degree Kenvin.
13. Draw the diagram of a freely falling body. What conservation law does it follow on its path?
(AS-5)
(or)
Draw a diagram showing to seperte two or more miscible liquids when the difference in
their boiling poihts is less than 25°C.
Part-B
Class: IX Marks : 10
1. The process of changing solid Idoine to gaseous state directly is ( )
A) Melting B) Boiling C) Sublimation D) Freezing
2. The process used to separate butter from curd ( )
A) Distillation B) Fractional distillation
C) Evaporation D) Centrifuge
3. Molecular weight of water (in grams) ( )
A) 18 B) 16 0)3 D)2
4. Sub atomic particals of an Atom ( )
A) Electrons B) Protons C) Neutrons D) All the above
5. Correct answer in the following ( )
A B
1. Sodium (@) K
2. Sulphur (b) S
3. Potassium (c) Na

A)) 1-a, 2-b, 3-c B) 1-c, 2-b, 3-a C) 1-b, 2-c, 3-a D) 1-a, 2-c, 3-b
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10.

11.

12.

13.

1) V=utat

1
2)S=Ut+ Jat

3) V2-u?=2as

Which of the above indicate the equations of uniform accelerated motion

A1, 2 B) 2, 3

The product of mass and velocity is

A) Momenteem B) Impulse

S.I. unit of Force
A)Newton B) Dyne
1. Archmedice Principles

2. Pascal's Principle
3. Boyles Principles

Which of the above principle related to apparent loss of weight of the immersed stone is

01,3

C)Erg

equal to the weight of water displaced by the stone

Al B)2

Work done to carrying 3 m distance by applying a force of 5 mis

A)SJ B) 15]

03

C)3J

D)1, 2, 3

C) Acceleration D) Force

D) Joule

D)1,2,3

D) 8J

Which of the following questions is related to acceleration ?

A) Is the body to avelin with uniform volacity and acclertion

B) Is the body traveling with non-uniform velocity has and acceleration

C) Is the body traveling with uniform speed and accelertion

D) Is the body in the rest position has an acceleration

Two bodies of unequal masses are dropped from the top of building. Whcih of the following

is equal for both the bodies at any instance

A) Speed
C) Potential energy

B) Force of gravity
D) Kinetic energy

F:_;e_—-{fmmwnmu_)p

The above experiment related to
A) Newton's [ law
C) Newton's I1I law

B) Newton's IT law
D) All above

65

(

(

)

)



14.

15.

16.

17.

18.

19.

20.

======8=—7P

S—6-6==—7—Q Two bodies, experience same pressure in a liquid are (
JUNCERCECESS pall

A)P,Q B) Q,R 0)S,Q D)S, T

Cation Anion Formula
Mg?* Cl Y
X SO; ’ NaZSO4

Obseve above table and which is suitable in the Position of X and 'Y" (

A) Na**, Mg" B) Na*", MgCl, C) Mg C1, SO, D) SO4, MgCl
Observe aboe table and which is suitable in the position of 'X' (

A)Na® B) Na™ C)Na* D) Na
Raju observed an Iron piece, and glass of milk. He stated that
1) Iron piece has fixed shape and volume
2) Milk has fixed shape and volume
Which of the following is correct. (

A) 1-True, 2-False  B) 1- False, 2-True C) Both 1, 2 True

1) Salt + water forms homogeneous solution
2) Sugar + Kerosene froms Heterogeneous solution
3)Sand + water forms Heterogeneous solution

From the above, the correct statements are
A) 1,2 B) 2,3 01,3

The Isotope used in cancer treatment

A) Coball B) lodine C) Uranium
The device working by multiple reflection of sound

A) Megaphone B) Musical instrument

C) Stethoscope D) All the above
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D) Both 1, 2 False

(
D)1,2,3

(
D) Sodium
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SUMMATIVE ASSESSMENT

General Science Paper - 1
(Physical Sciences)
Part-A& B
(Englisn Version)

Class IX Time: 2.30 hrs.

Max. Marks : 40

Note: 1) Write the answer of ‘Part A’ on seperrate answer booklet
2) Answer the ‘Part-B’ on the same, and is attach to the ‘Part-A’ Answer booklet.
3) Additional 15 minutes are given to read the question paper, before start the examination.
PART-A
SECTION -1
Note: 1) Answer all the following questions.
2) Each question carries 1 Mark. 4x1=4
l. The initial velocity ofabodyis ‘u’ at that time t = 0 for every one minute equal changes occurs in
velocity, knowing the definetion of univorm acceleration. Write the equation to find the final velocity
‘V,?
2. To know about ‘Mechanical energy’ of an object, Mahesh asked some questions to his teacher.
Guess the questions and write, what Mohan asked his teacher.
3. “The nature of gases are heighly compressible as compared to liquids and solids” Explain the state-
ment using an example?
4. In the experiment ““ to understand change in mass before and after a chemical reaction”, How can you
say that a chemical reaction has taken place in this experiment, give reason.
SECTION -11
Note: 1) Answer all the following questions.
2) Each question carries 2 Marks. 5x2=10
5. “A car posses more inertia than a bicycle” Explain.
6. Draw the table in recording the readings in the experiment in finding the relative density of different
objects.
7. Why atomic nucleus contains protons and nuetrons whynot ............... and nuetrons ? Explain.
8. The molecular formula of Hydrogen is writters as “2H’ and ‘H,” which one is correct? Justify your
answer?
0. Ifsome drops of petrol falls on wet road during rainy season. It shows rain bow colours. How can you

support your answer that it belogns to chromatogrophy



SECTION - 111

Note: 1) Answer all the following questions.

10.

11.

12.

13.

2) Each question carries 4 Marks. 4x4=16
a) “The force of gravitation is acts on all bodies in the universe explain.

b) A body fiee falling froma height of 20 meters. Calculate the final velacity and time tken to it, .........
the group. (g=10m/Sec?)

(or)
a) Explain the density of sound in relation with the wave length, a characteristic feature of sound.

b) A sound wave travels at a speed of 440m/s. Ifits wavelengths is 4 cm. Calculate the frequency of
the wave?

The table given below, is filled with incorrect information. Study the table and draw the correct table,
and explain the reason.

Homogenous Mixtures | Heterogenous Mixtures Elements Compounds
Soda Water Sugar Solution Iron Water
Mud Water Milk Calcium Oxide Mercury
(or)

Based on the information given below. Answer the following questions.

Element Atomic No. | No. of Protons | No. of Neutrons | No. of Electrons

X 11 11 12 11
Y 13 13 14 13
Z 15 15 16 15

a) Write the distribution of electrons in different shells.
b) Find the valency ofthe given elements.
¢) Write the atomic number and mass number of the given elements in standard notation.

How can you opposite the conributions of Aristotle and Galeleo in farming the leaves of motion by
Newton?

(or)
Thompson and Rutherford learned more from nature in giving their atomic models. Justify your answer
in supporting the given statement.

Draw the diagram and label the part in measuing the weight of the water displaced by the immersed
done and slow far it support the Archemede’s Principle.

(or)
Draw the diagram showing the arrangement of particles in solids, liquids and gases. Write the reasons
for rate of diffusion is more in gasses.



SUMMATIVE ASSESSMENT

General Science Paper - 1
(Physical Sciences)

Part-A& B
(Englisn Version)
Class IX RollNo:
Competency AS -1 AS-11 AS - 111 AS - VI AS- VI
& VIII
Question No. 113[5]16]110]114124130| 2| 8[20(31(4 |6]9 21|29 11]22(23 (3233|1312
to | to
19(28
Marsks Secured
Total Marks
PART -B

Note: Choose the correct answer 20x%2 =10
14. Which one of the given below is the suitable example for the change velocity in both direction and

speed. Changes simultaneously ()

A) Hand movement in a clock B) A drum is moving on a slope

C) Movement of a pendeculum in a wall clock D) Aball thrown into the air
15. Newtons first law of Motion can be shown as ()

_Ap

A) F. = At B) F,, =0 C) F,, =ma D) F,, =—Fy,

16. About stability the statements are given below. ()

(1) The location of the centre of gravity given stebility to an object.
(2) The line through the centre of gravity fell out side the base nodes the object unstable

A) 1listrue, 2 is false B) Bothare true
C) Both are false D) Its false and 2 is true
17. Match the following. ()

a) Universal gravitation constant ( ) (1) 6 x10** Kgs
b) Acceleration due to gravity of the earth ( ) (2) 6.4 x10° Km
¢) Mass of the Earth ( ) (3) 9.8 m/Sec?
d) Radius of the Earth ( ) (3) 9.8 m/Sec?
A)A-1,B-2, C-3, D-4 B) A-4, B-3, C-1, D-2

C) A-4,B-3,C-2,D-1 D) A-1, B-3, C-4, D-2



18.

19.

20.

21.

22.

23.

24.

25.

26.

The term ‘Density’ is defined as mass per unit volume is written as ()
A) Mass . volume B) Volume / mass C) mass + volume D) mass/ Volume

Arun dropped a 10 kg ball from height of 10m. calculate the speed ofthe ball just before it reaches the

ground « )
A) 10m/Sec B) 14m/ Sec C) 16m/Sec D) 18m/ Sec

Rajani imagines that (1) she applys force on a book to life is 4.9 N. 2) She guess that the earth also
applys the same force on it. «C )
A) 1 and 2 are true B) 1 and 2 are false

C) listrue and 2 is false D) 1is false and 2 is true

To find the relative density ofthe liquids, we need th eweight of fixed volume of liquids as milk, ground
nut oil, Kerosene and with the weigh equal volume of liquid ............c.ccoeeueenee. ()
A) Milk B) Ground nut oil C) Kerosene D) Water

Which one of the following statement is incorrect ( )

A) The loudness of sound is measured indecibles

B) Aselection of sound arriving at th elistener in more than O.1. Sec. after direct sound is called ‘echo’
C) Sound frequency between 20Hz - 200 Hz is callsed audible tim. if.

D) Soun dof frequency less than 20 Hz is knows on infracsonic sounds.

The nature of sound waves are belongs to ( )
1) The particles of the medium vibrate along the direction of wave.

2) Th eparticles of the medium vibrate perpendicular to the direction of wave.

3) The waves changes the density of the medium.

4) The waves changes in the shape of the medium

A)1and3 B)2and 4 C)land4 D)2and 3
The word ‘element’ was first used by ? ( )
A) Lavoiser B) Henning Brad

C) Robert Boyle D) Humpry Davy

‘X’ is a liquid substance, which is having the properties of ()
1) Shape 2) Volume 3) Compressibility 4) Diffusion

A)1and2 B)2and 3 C)3and4 D)2 and 4

Find the add property belongs to ‘suspensions’ ( )

A) It is a Heterogenous mixture

B) The particles can not be seen with naked eye.

C) The Solute particles settle down when undisturbed it.
D) The components can be separated by physical process



27.

28.

29.

30.

31.

32.

33.

A solution contains 20 grams of sugar in 100 grm. of water find the mass percentage of the solution.

A) 10%

Match the following
a) Antoine Levoisiev
b) Joseph. L. Proust

¢) John Dalton

d) John Berzelins
A)A-4,B-1,C-2,D-3
C)A-1,B-2,C-3,D-4

The atomic mass of Carbon is 124 and oxygen is 164. Find the molecular mass of Carbondioxide?

A)20U

B) 15%

NN NS

B)40 U

Kalium: Potassium : :

A) Aurum

David’s expectations are as (1) Neils Bohr Explains the nature of Hydrogen to (2) At the time of Neils
Bohr, Neutron was not discovered

A) lis true
C) 1 false

2 false
2 true

C)17%

2) Atomic theory
3) Symbols of elements
4) Law of conservation

N N N N

D) 20%

1) Law of constant proportions

of mass

B)A-4,B-1,C-3,D-2
D)A-4,B-3,C-2,D-1

C)44 U

: Sodium.

B) Ferrum

C) Natrium

B) Bothare true
D) both are false

Find the characteristic feature, which is not belong to neutron
A) It is ‘no’ change particle

C) It had mass but not equal to proton

B) It is in the nucleus

D) It was discovered by James chad wick

D)28 U

D) Wolfram

Arrange the sentences in correct sequential order, basing on criss-cross method,
A) Write the symbols of atoms or group of atoms side by side
B) Inter change the valency and write the number to the lower right ofthe constituen
C) Write the valency of each atom or group of atoms on the top of the symbols.

D) While writing the formula ignore if any constituents receives the number 1.
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MATHEMATICS
BLUE PRINTS

Class: 6
S.No. | Academic Standard VSA SA Essay | MCQ | Marks
2 marks| 4 marks| 8 marks| 1 mark

1. Problem solving 1(2) 2(4) 2(8) 6(1) 32

2. Reasoning & Proof 1(2) 1(4) 1(8) 2(1) 16

3. Communication 1(2) 1(4) - 2(1) 08

4. Connection 1(2) 1(1) - 6(1) 12

5. Rep & Vis - - 1(8) 4(1) 12

4(2) 5(4) 4(8) 20(1) 33

Total 08 20 32 20 80

Class: 7
S.No. | Academic Standard VSA SA Essay | MCQ | Marks
2 marks| 4 marky 8 marks| 1 mark

l. Problem solving 1(2) 2(4) 2(8) 6(1) 32

2. Reasoning & Proof 1(2) 1(4) 1(8) 2(1) 16

3. Communication 1(2) 1(4) - 2(1) 08

4. Connection 1(2) 1(1) - 6(1) 12

5. Rep & Vis - - 1(8) 4(1) 12

4(2) 5(4) 4(8) 20(1) 33

Total 08 20 32 20 80
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Class: 8

S.No. | Academic Standard VSA SA Essay MCQ Marks
1. | Problemsolving 1(2) 1(4) 2(8) 10(1) 32
2. | Reasoning & Proof 2(2) 14) - 8(1) 16
3. | Communication 2(1) 1(4) - 1(2) 08
4. | Connection - 1(4) 1(8) - 12
5. | Repregentation - 1(4) 1(8) - 12
Total 4(2) 5(4) 4(8) 20(1) 33(80)
08 20 32 20
Class: 9
PAPER-I
Academic Standard / Essay SA VSA MCQ Total
Types of Questions
1
PS 2(4) 2(2) 1(1) 6 5 11(16)
1
R&P 1(4) 1(2) - 4 5 6 (8)
1
Comm - 1(2) 1(1) 2 5 4 (4)
1
Conn - 1(2) 2(1) 4 5 7 (6)
1
Rep & Vs 1(4) - - 4 5 5(6)
1
Total 4(4) 5Q2) 4 (1) 20 E 33 (40)
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Class: 9

PAPER-II
Academic Standard / Essay SA VSA MCQ Total
Types of Questions

Problem Solving 1 2 2 6 16
Reasoning & Proof - 1 1 4 8
Communication - 1 - 4 4
Connections 2 1 - 4 6
Rep & Vis 1 - 1 2 6
4 5 4 20 40

Total No. of Ques. 13 Questions

20 MCR
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
MATHEMATICS

PART -A&B

Class : VI E.M. Max.Marks : 80
StUAENt NAINE ¢ oeeeverenneeeneieeencereneeeressoseseecsssscsassoces ROIINO: ..eeueeennnene Time : 2hr 30 min + 15

PART - A Max. Marks : 60

Academic Problem solving Reasoning & | Communi-| Connection | Repre- Total
Standard Proof cation sentation

Q.No. 1{5]16 |10 [11 ]2 |7 |12 3 8 4 9 13 13 Qus.
Marks
Instructions : 1. Read all the questions.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should written visibly and neatly.

6. There is an internal choice in Section-III.

SECTION -1 4 x 2 = 8§ marks

Note :1. Answer all the questions.
2. Each question carries 2 marks.
1 2
i ify 2—+1—
1. Simplify 3 TS

2. Write any two pairs of primes in which the sum of two numbers in a pair is exactly
divisible by 5.

3. “Suresh has 3 books more than twice the books of Radha”. Write this relation using the
variable x.

4. A wire has 22 cm length. If you want to bend and make a rectangle with length 6 cm, then
find its breadth.
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10.

SECTION - 11 5 x 4 = 20 marks

Note :1. Answer all the questions.
2. Each question carries 4 marks.

Find the least whole number which when divided by 12, 14 and 18 respectively leaves
remainder 5 in each time.

The ratio of length and breadth of a rectangular plot is 3 : 2 and its area is 1200 sq.m then
find its perimeter.

The temperature in Simla on a day is -4°C and -6°C at Kufri. Which place is cooler? Why?

Write the names of the following geometrical figures.

If 25 millilitres of milk is required to make one cup of tea, then find how many cups of

AN N
v

tea we can make out of 25 litres of milk?

SECTION - III 4 x 8 = 32 marks
Note : 1. Answer all the questions.
2. Choose any one from each question.

3. Each question carries 8 marks.

Read the following table.

Item Unit cost (in )
Note book 16-50

Pen 10-99

Pencil 5-25
Compass box | 45-00

Find the total cost of 4 notebooks, 2 pens, 5 pencils and one compass box using the table.
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11.

12.

13.

(or)
Find the value of each one of the following using properties.
i) 368 x 12 + 18 x 368 ii) 319 + 69 + 81
iii) 1991 x 1005 iv) 196 + 57 + 4

A garden is in the shape of a square and its side is 3.5 m. Find the cost of fencing it around
4 times, if the cost of the wire is Z.15 per meter.

(or)

The length and breadth of a rectangular shaped room are 10m and 6m. Find the total cost
of carpet to lay down on entire floor, if the cost of 1 sq.m carpet is I 300.

i) Does —.—,—.5,— are equal ? If not, which is bigger and which is smaller? How ?
ii) Arrange 8.6, 8.59, 8.09, 8.8 in Ascending (Increasing) order.
(or)

Does the numbers 3, 5, 15 and 9 are in proportion ? Arrange them in proportion in as
many orders as possible. Check them each case.

Construct an angle £40B = 60° using ruler and compass. Draw its bisector and write
steps of construction.

(or)
The monthly expenditure of Imran is given in the following table. Represent the data as
a Bargraph.
Item House Rent | Food | Education | Electricity | Transport | Others
Expenditure (in J) 3000 3400 800 400 600 1200

koK
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
Time : 30 min PART - B Max. Marks : 20
Academic . Rea- | Com- . Representa-
Problem solving soning | muni- Connection p Total
Standard & Proof cation tion

Q.No. 14 1712312526131 16|21 |30(32 (15| 19(20]122|24|29]|18(27]|28|33(20Q

Marks

1. Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.

Marks can not be awarded for overwriting answers.
4. Each question carry 1 mark.
20 x 1 = 20 marks

14. The place value of ‘5’ in 35128 is [ ]
A) 500 B) 5 C) 5000 D) 50

15. The least unit of measuring liquid. [ ]
A) 1 kilo litre B) 1 litre C) 1 centi litre D) 1 millilitre

16. One of the following is divisible by both 2 and 5 [ ]
A) 120 B) 125 C) 52 D) 555

17. The product of two numbers is 216 and their LCM is 36 the HCF [ ]
A) 18 B) 12 C)6 D) 21

18. In the adjacent figure ‘0’ is called B [ ]

.

A) Centre B) Vertex C) Arm D) Origin

19. The estimated measure of angle at the corner of a room [ ]
A) 90° B) 0° C) 180° D) 60°

20. The integer to represent height of a mountain [ ]
A) zero B) positive C) negative D) none

21. Like fractions among the following. [ ]

234 123 I 11 522

N777 »9979 9755 Pwrs
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

5
Niha has taken 7 part of fruits from a basket then the part of fruits left in the basket.

1 2 3

A) 7 B) 7 O 7 D) none [ ]
A pen costs X 7 then the cost of ‘n’ pens. [ ]
A)n+7 B)7 - n C) 7n D)%
Angle between two hands of a clock at 3:00 hrs. [ ]
A) 180° B) 60° C) 300° D) 90°
The side of a square is 4 cm then its area. [ ]
A) 8 sq.cm B) 16 sq.cm C) 16 cm D) 8 cm
The ratio of I 5 and ¥ 2.50 is [ ]
A)5:2 B)2:1 C)2:5 D) 5 : 250
Which one of the following is a symmetric figure. [ ]
A) B) O) D) ’j
The instrument used to bisect a line segment. [ ]
A) scale B) compass C) divider D) both A and B
The shape of a marble [ ]
A) cylinder B) cone C) sphere D) cube
The line segment AB in the figure is called [ ]
A) radius B) arc A P
C) diameter D) chord
Radha shared I 45 to Hari and Mahesh in the ratio 2 : 3 then mahesh get [ ]
A)X 18 B) X 27 )9 D) X 45
“The cost of an apple is double the cost of Jamoon”. If the cost of Jamoon is ‘x’ then cost
of apple. [ ]
A) 2x B) x + 2 C)2 - x D)g
The representation of 3—(—1) on the number line is [ ]
A) Sttt B) €&+t m\.n

54-3-2-1012345 54-3-2-1012345
9) , AN S D) « Mé\ —————>

54321012345 5-4-32-1012345
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
MATHEMATICS

PART -A&B
Class : VII E.M. Max.Marks : 80
StUAENt NAINE :© o..eeeeeeerenenereneeerenecsereseoceseseossssssosans | 230) | B\ (1 T Time : 2hr 30 min + 15

PART - A Max. Marks : 60
Academic Problem solving Reasoning & | Communi-| Connection | Repre- Total

Standard Proof cation sentation

Q.No. 1{5]16 |10 (11 ]2 |7 |12 3 8 4 9 13 13 Qus.
Marks
Instructions : 1. Read all the questions.

2. Part-A answers should be written in separate answer book.

3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should written visibly and neatly.

6. There is an internal choice in Section-III.

SECTION - I

Note :1. Answer all the questions.

2
1.  What should be added to 155 get 18 P

2. A boy has taken three sides 3cm, 4cm and 9 cm measures to construct a triangle. Is it

2. Each question carries 2 marks.

possible? If not, why?

5

3. What is a linear pair? Draw rough figure.

4.  The M.R.P. of a book is ¥ 225. The shopkeeper has given 10% discount on it. Find its

selling price.

80

4 x 2 = 8 marks




10.

SECTION - 11 5 x 4 = 20 marks

Note :1. Answer all the questions.
2. Each question carries 4 marks.

The ratio of angles of a triangle is 2 : 3 : 4. Find the angles and name the triangle.

Simplify 5x> — 4 — 3x*+ 6x + 8 + 5x — 13. Find the value of the expression when
x = -2

ABCD is a parallelogram and AC is the diagonal. Prove that AABC= A ADC .
Z |
A B
Read the following pie-chart about a family monthly expenditure and answer the question
given below.
Savings| Food
90" | 120°
’
tion
60° 90°

i) On which item, family is spending more and less amount?

ii) If the monthly income of the family is ¥ 3000, find the amount spending on
houserent.

The length of the minute hand of a clock is 14 cm. Find the area covered by it in 1 hour
(Take w = 3.14).

SECTION - 111 4 x 8 = 32 marks

Note :1. Answer all the questions.
2. Choose any one from each question.
3. Each question carries 8 marks.

The present age of Ravi's father is 3 times the age of Ravi. If the sum of their ages after
5 years is 58 years then find their present ages.

(or)
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11.

12.

13.

A shopkeeper bought two computers for ¥ 20,000 each and sold first one at a profit of
20% and second one at a loss of 20%. Find his gain or loss percent on the whole.

Simplify the following using laws of exponents.

, 5f_“x X! px XY O 4x2" 22!
1) x4 x" x? 1i) 8x 2" —4x 2!
(or)

The length and breadth of a room are 8 m x Sm. A varandah of width 1.5 m is laid
uniformly around it. Find the area of the varandah.

Explain how the sum of angles /4+ /B+ £C+ 4D+ £ZE =180°in the given figure?
A

(or)

In how many ways you can express three positive integers so that they have arthimetic
mean 6, median 7 and have no mode. Explain.

Construct a right angled triangle ABC in which base BC = 5 cm and hypotenuse AC = 6.2
cm. Write steps of construction.

(or)

Construct a double bar-graph using the following information about marks obtained by
5 students is maths and science.

Student Amir Basha Chandan Deepti | Abhishek

Maths 92 90 75 67 60

Science 85 80 80 75 60
skkook
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SUMMATIVE ASSESSMENT-3

MODEL QUESTION PAPER
Time : 30 min PART - B Max. Marks : 20
Academic . Rea- | Com- . Representa-
Problem solving soning | muni- Connection p Total
Standard & Proof cation tion

Q.No. 14 1712312526131 16|21 |30(32 (15]19]20122|24|29]|18(27]28|33(20Q

Marks

14.

15.

16.

17.

18.

19.

20.

21.

1. Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given

brackets.

Marks are not awarded for overwriting answers.

4. Each question carry 1 mark.

20 x 1 = 20 marks

The sum of two integers is —16 and one of the is 12 then the other. ( )
A) -4 B) 4 C) 8 D) -8

The ages of 10 teachers in a school are 32, 41, 28, 54, 35, 26, 23, 33, 38, 40 then range
A) 30 years B) 32 years C) 40 years D) 31 years ( )
Least number of possible acute angles in a triangle. ( )
A)0 B) 1 C)2 D)3

If 25% of a number is 40 then the number is ( )
A) 100 B) 140 C) 160 D) none

A pair of vertically opposite angles in the figure. 3%@ ()
A) (£1,£2) B) (£2, £3) C) (41, £3) D) (£4,41)

Candles are generally in the shape of 3D object. C )
A) cone B) sphere C) cylinder D) cube

One of the following two quantities are in inverse proportion. ()
A) No. of books and their cost B) Distance travelled, petrol required

C) No. of men, time taken to finish a work D) No. of people, food grains required
Which of the following cannot be the angles triangle ()
A) 30° 40° 110° B) 90°, 90°, 0° C) 120° 30° 30° D) 45° 45° 90°
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Which stastical measure is useful in ordering sweet (laddus) for a marriage function.

A) mean B) median C) mode D) none

If a=2,b =1 then the value of a®— b? is

A) 2 B) 5 O) 1 D) 0

The shadow of a cone, when seen under the lamp.

A) square B) rectangle C) circle D) triangle
The area of the figure.

A) 49 sq.cm B) 28 sq.cm

C) 14 sq.cm D) 16 sq.cm

If2n + 5 =3 (3n — 10) then the value of n. <"

A)S B) 3 C) % D) %

S.A.S. congruency is represented in the figure.

Zﬁﬂm

The net of the solid O represents
A) cube B) cuboid C) cylinder D) sphere
The ratio of ¥ 5 and ¥ 0.50 is
A) 50 :1 B) 10 : 1 C)5:1 D) 100 : 1
A parallelogram in which the adjacent sides are equal.
A) a square B) a rhombus C) arectangle D) a kite
What should be added to 2.06 to get 3.1 ?
A) 14 B) 1.24 C) 1.04 D) 5.16
The standard form of the number 124000000
A) 12.4 x 10° B) 1.24 x 10° C) 124 x 10° D) 0.124 x 10°
In the figure #4BC=/BCD=30° then the relation between the lines AB and CD can be
represented as A 5B
C 30 D
A)ABLCD B) AB x CD C) AB||CD D) AB =CD
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A) (£1,£2) B) (£2, £3) C) (41, £3) D) (£4,41)

FBen Feedwor 3D ese8os® Gor.
A) dognd B) &*%o O ér(;a/ao D) $»d0
808 8% ISErHFE0S Hod TeHen DD?

¢ )

A) Hdzre Josy, o 88 B) @’30‘5308%03 &80, SRS 'zb@b’gen

O 253263?’.13?3@ E(aoap?g, DAZRE DB Z{Jé%g@e)o

D) 253263@?30 éosp?g, @Kﬁém@ge HBAPe0

800 S® O Beren (BghHar Secen =IFEH?

A) 30° 40° 110° B) 90°, 90°, 0° C) 120° 30° 30° D) 45° 45° 90°
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

a8 008 S°65Lé<‘§aoe§£ %9’05&;9, (@Cé:(gen) fDUDém D506 50BN ©°oa>§é€°§; Dend.

A) ©0855500 B) &grgo C) ersco¥so D) Hb= C )
a=2b=1eowd a’— b* Jend. ( )
A) 2 B) 5 )1 D) 0
B0 JenehHd Boes BoanHD béo)é ($8Qo5radH wseso. ( )
A) S0 B) 5%‘5&6&60 C) HZo D) &gbhezo
@é&éé&o cioaé& S3°0. ( )
A) 49 $.20.8. B) 28 $.20.8.
C) 14 $.20.%. D) 16 $.20.50.
2n+ 5 =3 3n — 10) ®ond n Dend. Jem ( )
A) 5 B) 3 C) 2 D) 2

5 3
808 Herest ¢6.85. DBROLE0 S DoTH. ( )
A) B) C) D)
BEre Sobrso O Pt ShH wrates? () O ()
A) Jos0d0 B) 5&5}3@260 O m(;a/ao D) &0
T5 0% T 0.50 o E’D@g ( )
A) 50 : 1 B) 10: 1 C)5:1 D) 100 :1
&0y gheren ddrdorrre Hirods zﬁééoti)a)&o AB? ( )
A) SHB(K0o B) oroa® C) 525»:‘5636&60 D) mdHeno
2.06 3% Do BO1E 3.1 $5od? ()
A) 1.4 B) 1.24 C) 1.04 D) 5.16
124000000 @Dé& (PSoeBE  Erosdo. ( )
A) 124 x 10° B) 1.24 x 10° C) 124 x 10 D) 0.124 x 10°
©8)5008° LABC=/BCD=30" @onds® AB, CD Tgro S5y ©0205°0) 002050
B DoRR. A 5057 B ()

C = D

A)ABL CD B) AB x CD C) 4B||CD D) AB = CD
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SUMMATIVE ASSESSMENT - MODEL PAPER

Sub : Mathematics Max Marks : 80
Class : VIII E.M. Time : 2 h 30 min + 15 min
NAIME OF the SEHACIIL «.ueeeeenererieeeeeeernenneeseeecereeraesssssssssssssssssssssssssssssssssssssosssssssssssssss Section ......cceeeeeeennee
PART - A Max. Marks : 60
Academic | pyoplem Solving Reasonings and Communication | Connection | Representation
Standard Proof
Q.No. 2 5110112 1 6 3 4 8 9 11 7 13
Marks
Instructions : Read all the questions.

II.

1.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-III.

Answer the following questions. Each question carries ‘Two’ marks. 4x2 = 8 marks
“There are ‘26’ non square numbers between 6° and 82.” It is True (or) False ? Give reasons.

8th class maths Text book is printed in 120 paper sheets. The thickness of each paper is 20mm.
Find the total thickness of the text book.

Express (5x* - 25xy) as product of factors.

5A6 is a number divisible by ‘2’ then write all possible values of A ?

Answer the following questions. Each question carries ‘4’ marks. 4x5 = 20 marks
Sol 7x-=3 5
OV ox+3 4

If the diagonals of a Rhombus are equal then what type of quadrilatral will form ? Draw a rough

diagram and give reasons.

Draw the Histogram for following Data

1.Q of Student | 60-70 | 70-80 | 80-90 [ 90-100 | 100-110 | 110-120 | 120-130
No of Students 2 5 6 10 9 8 5

—_ . P
Express ().529 in ; form (q # 0 and p, q are co-primes)
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I1I.

10.

11.

12.

If two rectangles with 8 cm length and 4 cm breadth are join together along with their length, find

the perimeter of the new shape.

Answer the following questions. Each question carries ‘8’ marks. 8x4 = 32 marks

The length of a rectangle shaped park exceeds its breadth by 17 meters. If the perimeter of the park

is 178 meters find the dimensions of the park.

(or)

A vessel is in the shape of a cuboid with 30 cm long and 25 cm wide. What should be its height
to hold 4.5 liters of water.

A surveyor had noted the measurements of a field in his field book in meters as shown below. Find
the area of that field

to ‘S’

200
25t0o T <——— 160
110 ——> 60 to ‘R’
25to L<—T— 70
30— > 40to Q

From P

(or)
Madhuri went to a Super Market. The prices changes as follows on a day. The price of Rice
reduced by 5%, Jam and Fruits reduced by 8% and oil and Dal increased by 10%. Help Madhuri
to find the changed price in the table given below :

Item Original Price Changed Price
Rice < 30
Jam < 100
Apples < 280
Oil I 120
Dal < 80

A pre owned car showroom owner bought a second hand car for ¥ 1,50,000. He spent ¥ 20,000
on repairs and painting then sold it for ¥ 2,00,000. Find whether he gets profit or loss ? If so, what
percent ?
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13.

(or)

175 men can dig a canal 3150 m long in 36 days. How many men are required to dig a canal
3900 m long in 24 days.

Construct a quadrelateral PQRS where PQ = 3.5 cm QR =4 cm, RS =5 cm, PS =4.5 cm and
QS =6.5 cm

(or)
Construct a parallegram ABCD, given that AB = 4.2 cm, BC =5 cm and £D = 45°

PART - B Max. Marks : 20

Academic | problem Solving Reasonings and
Standard Proof

Communication | Connection | Representation

Part-B 14, 18, 19, 20, 21 (15, 16, 17, 23, 25 24,26

22,27,28,29, 33 30, 31, 32

Marks

Instructions : 1. Answer all the questions in Part-B

14.

15.

16.

17.

18.

19.

20.

2. Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.
3. Marks are not awarded for overwriting answers.

4. All questions carry equal marks. 20x1 =20

The Length of Rectangular Sheet is 20 cm, Area is 280 Sq. cm. Then its breadth is ..............

A) 14 cm B) 16 cm C) 12 cm D) 18 cm [ ]
Which of the following number have ‘9’ in units digits in its square (1) 13, (2) 13, (3) 19

A) only 1 B) only 2 C) only 3 D)land2 [ ]
If \/9604 = 98 then \/96.04 = «ceeeevveveneen.. [ ]
A) 98 B) 9.8 C) 0.98 D) 0.098

If the median of the data 24, 29, 34, 38, x is 29 then the value of x is [ ]
A) More than 29 B) Less than 29 C) 29 D) between 29-34
Product of (xty) (x-y) is [ ]
A) Xty B) x* -y’ C) x+y) D) (x - y)?

No of factors to product of 2 x 3 x 51iS cceeeennnenee. [ ]
A)3 B) 6 C) 8 D) 4

Number of symmetric axes to a circle is [ ]
A)l B) 0 C) 4 D) Infinite
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

>

”5 in adjacent figure the value of x

A) 67 B) 157 C) 179

n
If 7 =-3thenn=....ccooeeee....

A) -10 B) -21 C) +21

Among the following, a non linear equation is

A) 6x+3 =4 B) x*+1 = x™+5x C) 4x+3 = 2x

Compound Ratio of 3:4 and 2:3 is
A)1:2 B)2:1 C) 8:9

5
Value of 6 1s

A) Not Defined B) 0 C)5

All the bars in bar graph have

A) Same Length B) Same Breadth C) Same Area

Mode of the data 10, 12, 14, 10, 12, 16, 12, 10 is

A) 12 B) 10 C) 12 and 10

Number of latreal faces of a square prism
A) 4 B) 6 C) 5

Product of 5x and 6y is
A) 11xy B) 5x+6y C) 30xy

D) 56

D) +4

D) x*+5 =0

D) 9:8

[ ]

D) None of the above

[ ]

D) Same Perimeter

D) 12 or 10

D) 8

D) 30x + 30y

[ ]

If a Rectangle length is 3 units, breadth is 2 units and its similar rectangle length is 6 units then breadth

is
A) 5 units B) 2 units C) 4 units

20% of 60 is
A) 15 B) 12 C) 18
Equalent value for 10" is

1
1012

A) B) C) -10"

1210

Profit percentage (or) loss percentage is calculated on ..............

A) Selling price B) Cost price C) Rebate
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D) 6 units

D) 20

D) -12

[ ]
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12.

13.

(Bo)
AR50 88 KrHE ST e Bl ShHe $0S Ge ) aereTRon. HARO
G5 5% Sipte, @S Db o 8% Spte, B, Hiped 10% BEMHBL ED.
Po0S © FOS Ben EHMTHOSH FH08 ¥Bcho Fohod.

SIS ol 8 SeB% 88
‘a’)o‘ﬁaso < 30
2P T 100

Srusdy | 280
53 3 120

59 % 80

a8 P8 SEH B, oly HFHmH af PSS T 1,50,000 0% § o HEydhes
B BorbFEdme® T 20,000 8y Br. ©8H © s 86A T 2,00,000 & el
oPSEr? $HEr? Do FE0?

(Bo)

175 %oob BV 36 Slerod® 3150 el SPER) Ko seendd (BXyieth. wond 3900
S FEHKO s 24 Sererst (BIROB oS00 HITE SHIBS0?

PQ = 3.5 20.8., QR =4 20.8., RS =5 20.80., PS = 4.5 20.8., £8x» QS = 6.5
20.8. &os8® PQRS &80 D0Bok.

(Bo)

AB =4.220.8., BC =5 20.8., /D = 45° o$o8® ABCD 350088 iﬁéati)e)&o 506&01‘50&.
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PartB | 14,18, 19,20,21|15, 16, 17,23,25| 24,26

22,27,28,29, 33 30, 31, 32

Eéﬁéogpa

Srdden 1 1. PR-B S50 o) @Het SSrersiven (@dchod.
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3. §°é§3e§&», BRerLDH Jrdnen HBADaED.
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14. 238 égiﬁéoé@ KD 20 o.., JFego 280 3$.20.8. @ad éqéwiﬁéoéga Sen)

A) 14 20. . B) 16 20.8. C) 12 20.%. D) 18 20.8. [ ]

15, (8ob & Hogy SEES® 2.8y 5(;26063’5 ‘9 goewod. 1) 13 2) 17 3) 19 [ ]
A) 1 Sre@a B) 2 &35 C) 3 &m(&ad D) 1 850 2

16. /9604 = 98 ©o0S /96.04 D0 [ ]
A) 98 B) 9.8 C) 0.98 D) 0.098

17. 24,29, 34, 38, x o580 29 @and x Ded [ ]
A) 29 857 %% B) 29 S S5 C) 29 D) 29-34 Lo

18, (xty), (x-y) © ©8dend [ ]
A) X+ y B) x* -y C) (x +y) D) (x - y)

19. 2 x 3 x 5 og Joggs Ko sedearossne 5oy [ ]
A)3 B) 6 C) 8 D) 4

20. a8 HBLoIH Ko JParEsve Kowy [ ]
Al B) 0 C) 4 D) e05085m

O

21. 25 He088 X’ Dend [ 1

A) 67 B) 157 C) 179 D) 56
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

% = -3 ®ond n Jend

A) -10 B) -21 C) +21

Bod 8* BhH $wEBeo =06

A) 6x+3 =4 B) x*+1 = x*+5x C) 4x+3 = 2x
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A) 11xy B) 5x+6y C) 30xy

D) +4
D) x*+5 =0
D) 9:8

D) 239 =%

[ ]

D) hepSoden Hebo

D) 12 8% 10

D) 8
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[ ]
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A) 5 e B) 2 ot C) 4 oSoe
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1012 8 IS Densd
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D) -121
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MODEL PAPER
SUMMATIVE ASSESSMENT-3

Class : IX Sub : Mathematics
Time : 2 hrs. 45 min Parts - A & B Max. Marks : 40
PART - A Max. Marks : 30
Academic Problem Solving R&P Coml.num- Connection Rep | Total
Standard cation

Q.No. 2 8 91 12| 13| 6 11 1 5 3 4 9 10 13
Marks

Instructions : 1. Read all the questions.

1

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-III.

SECTION -1 4x1 = 4 marks

Note : 1. Answer all the questions.
2. [Each question carries 1 mark.

=25
1. Express ? as decimal number

2. Find the value of X’ in the figure

B

(Bx°+18))| 930
A C
0

3. What is the ratio of surface area of sphere and hemisphere ?

4.  Express the below statement in a linear equation in two variables.

The sum of the two numbers is 24.
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10.

11.

12.

SECTION - 11 5x2 = 10 marks

Note : 1. Answer all the questions.
2. [Each question carries 2 marks.

— p
Express | 25 in the ; form where q = o, p and q are integers and co-primes

Verify whether 2 and 1 are zeroes of polynomial x* - 6x + 8.

What are the possible polynomial expressions for the dimensions of the cuboid whose volume is
2x* - 8x ?

Find two rational numbers between 0.5 and 0.55

Find the remainder when x* + 1 is divided by (x+1), using division method.
SECTION - III 4x4 = 16 marks

Note : 1. Answer all the questions.
2. Each question carries 4 marks.

Visualise the representation of 5 g7 on the number line through successive magnification upto four
decimal places.

(or)

Draw the graph of the equation
x+2y=5

From the graph find

(1)  the solution of (x, y) where x =3
(i)  the solution of (x, y) where y = 0

Verify that x>+ y + 7 - 3xyz =

_ %(x+y+z)[(x_y)2 +(y—Z)2+(Z—X)2}

(or)

Prove that the product of two odd natural numbers is odd.

A conical tent was erected by army at a base camp with height 3m. and base diameter 8m. Find

(1)  The cost of canvas required for making the tent, if the canvas cost Rs. 0.70 per one sq.m. can
be seated in the tent ?
(i)  Find the number of person can sit in the tent if each person requires 3.5 cm® of air.
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(or)

In the below figure, find the value of x, y, z and a, b, c.

; / /
aD
X
c° z
Jyo

110°

65°

13.  The volume of a cylinder is 308 cm’. Its height is 8 cm. Find its Curved surface area and total
surface area.

(or)
Simplify 4/81 - 8.3/343 +15.3/32 + /225
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MODEL QUESTION PAPER

SUMMATIVE ASSESSMENT-3

Class :IX PART - B Max. Marks : 10
Academic AS-I AS-II  |AS-II|  AS-IV AS-V  |Total
Standard
Q.No. 141 15(17]126]131132(18]23]124127|16(19]122128(19(30]20]|21(25]33] 20

Marks

Instructions : 1. Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given

brackets.
3. Marks are not awarded for overwriting answers.

4. All questions carry equal marks.

IV. Each question carries 1/2 mark.

20x1/2 = 10 marks

14, 3322 = e [ ]
1

A) 2 B) 4 C)6 D) 5

15. Rationalising factor of \/5+./6 is [ ]
A) 5-6 B) 5-6 C) J5-6 D) 5+6

: p

16. Express 3.25 in the form of ; [ ]
RRE o 6 E E

17. The value of p(t) = 5t* - 6t + 7 at t = -1 [ ]
A) -18 B) 16 C) 18 D) -16

18.  The identity used in simplifying 101 x 99 is [ ]
A) (a+b) =a*+2ab+b’ B) (a-b) =a’ ~2ab+b’
C) (a +b)(a—b) =a’-b’ D) (x+a)(x+b) =X +(a+b)x+ab

19. The number of zeroes of a polynomial of degree ‘n’ will have [ ]
A) n-1 B) n+1 C) o0 D) n

20. Which of the following represents a ray [ ]
A) 4B B) 45 ) p D) AB
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21.

22.

23.

24.

How many dimensions a solid has

25.

26.

27.

28.

29.

30.

31.

32.

33.

A) 4 B) 3 C)2 D) 1
Find the value of ‘x°’ in the adjacent X
ﬁgure 2X° X
A) 30° B) 60° C) 90° D) 180°
Find the value of ‘x’ in the adjacent o
figure
300

A) 120° B) 240° C) 60° D) 90°
In the adjacent figure /|| m and then the reason \
f — /7 these are ........... les. AR 5
or 4‘1 /7 these are . angles | 3&0 >¢ [ ]
A) adjacent B) vertically opposite Y S

. o 8 7 n
C) alternate exterior D) alternate interior 7\>\
2015x + 2016y = 4031 represents a ..........cccuvvveeeen...
A) straight line B) parabola C) curved line D) circle
If (2, 2) is a solution of 3x + ay = 8, find ‘a’
A) 2 B) 0 C) 6 D) 1
The sum of the integers from -2015 to 2015 is ..............
A) 0 B) 4030 C) 1 D) 2015
A rectangle of length 44 cm is folded along with its breadth and formed a cylinder then radius of
the cylinder is .................. cm.
A) 44 B) 22 C) 7 D) 11
The ratio of volumes of cylinder and cone having same radii and heights is ...............
A)1:3 B) 3:1 C)1:2 D) 2:1
Find curved surface area of a cylinder having r=xcm, h=ycm s ............ sq.cm
A) 27x(x+y) B) nx’y C) mxy D) 2zxy
Product of first three consecutive odd natural number is ...........cccecueeeeeee
A) 15 B)9 C) o0 D) 105
If x =2 then find the value of (x+5) (x+2)
A) 28 B) 40 C) 20 D) x*+7x+10

1
Which of the following figure represents on 3 on number line

A) I

0

=)

0

A
©) YR

B) —

|
0 1

|
1030 =1



MODEL PAPER
SUMMATIVE ASSESSMENT-3 (PAPER-II)

Time : 2 hrs. 45 min Parts -A & B Max. Marks : 40
PART - A
(Max Marks : 30)
Academic Problem Solving R&P Coml.nuni- Connection Rep | Total
Standard cation
Q.No. 2 81 9| 121 13| 6 1] 1 5 3 4109 10 13
Marks
Instructions : Read all the questions.

1.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-III.

SECTION -1 4x1 = 4 marks

Note : Answer all the questions. Each question carries 1 mark.
1. Find the value of ‘x’ in the adjacent figure ‘O’ is center of the circle.

2. What is the probability of getting two heads while tossing two coins
simultaniously at once ?

3. Write the mark wise freequencies in the following frequency distribution table.

Marks 5 upto 6 upto 7
No. of students 5 11 19

4.  The opposite angles of a parallelogram are (3x - 2)° and (x + 48)°. Find the measurement of each
angle in the parallelogram.

SECTION - 1II 5x2 = 10 marks
A N
Note : Answer all the questions. Each question carries 2 marks. 5
5. In AABC 4B =90°, AD = DC, AB = BC and AB = 12cm.
Then find the area of AABD. ® €
D
6.  In the given figure the point ‘p’ bisects AB and DC. A a

Prove that AAPC =~ ABPD
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10.

11.

12.

13.

Write the formula for finding mean for a grouped data and explain its terms.

Write the uses of probability in daily life.

Write the points which satisfies the statements given.

)] The point A lies at 5 cms distance from X-axis and 3 cms distance from Y-axis lieing in Q,.

i)  The point B lies at 3 cms distance from X-axis and 5 cms distance from Y-axis lieing in Q..
SECTION - III 4x4 = 16 marks

Note : Answer all the questions. Each question carries 4 marks.

Centuries scored and number of cricketers in the world are given below :

No. of Centuries 5 10 15 20 25

No. of Cricketers 56 23 39 13 8

Find the mean by deviation method.

(or)

1 1
ABC is a triangle. D and E are points on AB and AC such that AD = ZAB’ AE = ZAC. If

DE = 2cm then find the value of BC.

Show that the diagonals of a parallelogram divide it into four triangles of equal area.

(or)
A bag contains 5 green, 3 blue, 2 red and 2 yellow balls. One ball is drawn out randomly.
a)  Are the four different colour outcomes equally likely? Explain.

b Find the sum of their probabilities. What do you observe. P
) p y _—

In the figure PQ = RS and ZORS = 48° .
Find ZOPQ and ZROS , 3

(or)

In the adjacent figure, AB = BC and AC = CD.
Then find out the ratio of ZBAD and ZADB. S
c

Plot the points or a graph sheet. Which points lie on same line.
A) (0, 4), B) (5, 0), C) (-3, -2), D) (2, -13), E) (2, 3), F) (0, -8), G) (-3, 0), H) (-3, 4),
D) (0, 6), J) (-6, 0), K) (2, 8), L) (-3, 2)

(or)

In AABC, AB = 6.5 cm, BC = 7.2 cm and ZA = 60°. Construct AABC and also construct
circumcirle to AABC. 105



MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3 (Paper-II)

Class : IX PART - B
(Max. Marks : 10)
Academic AS-I AS-IT  |AS-II|  AS-IV AS-V  |Total
Standard

Q.No. 141151172631 32(18|23(24[27|16(19]22|28(19]|30120(21|25|33( 20

Marks

Instructions : 1. Part B questions should be written in the question paper only.

14.

15.

16.

17.

18.

19.

20.

21.

22.

2. Write capital letter of the most relevant answer in the brackets given.
3. Every question carries 1/2 mark.

4. Overwriting and corrections are not valued. 20x1/2 = 10 marks
Which of the following is on (y in graph [ ]
A) (4,0) B) (0, 0) C) (-3, 0) D) (-3, -2)
If an exterior angle and its adjacent angle in the triangle are in the ratio of 5:4, and the interior
opposite angles are in the ratio of 1:4, then the triangle is [ ]
A) Isosceles B) Equilateral C) Right triangle D) Scalene
If x > 0, y < 0 then (-x, y) lies in [ ]
A) Q, B) Q, 0 Q, D) Q,
Median of 2, 5, 3, 7, x is 4 then x = [ ]
A) 2 B) 3 C) 4 D) 5
Which of the following points abscissa is more than its ordinate by 2. [ ]
A) (-4, 2) B) (2, 4) O (-1, 1) D) (1, -1)
Ife6,7,8,9, 10,6, 7, 10,7, 6, 7,9, 7, 6 are the sizes of shoes, then mode is [ ]
A) 6 B) 7 ©)9 D) 10
In a AABC AB > BC > AC then the smallest angle in the triangle is [ ]
A) ZA B) /B C) £C D) ZA and £C
The diagonal Cross section of a cube is [ ]
A) Square B) Rectangle C) Rhombus D) Circle

Test Scores 91-100 81-90 71-80 61-70
Greater than 20 14 5 2

Cumulative frequency

From the above table the class interval having frequency 9 is
A) 91-100 B) 81-90 C) 71-80 D) 61-70
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

From the adjacent figure the value of x° ‘W

A) 500 B) 40° C) 80° D) 100° SN
el D

When the number of observation ‘n’ is odd, then the median is which observation | ]

vG) e ol e

If PO| RS inthe given figure then the true statement is

A) 4D | BE B) CF || AD

FJF

C) BE||CF D) BE 1 CF

C\,é
D

In AABC ZA =70°, BE, CF are the bisectors of /B and ZC meets at O.

Then ZBOC = [ ]
A) 80° B) 90° C) 115° D) 125°
Mean of first 10 whole numbers [ ]
A) 5.5 B) 4.5 05 D) 6.5
Which of the following represents mean through deviation method. [ ]
- 2x - _ XX - 2fd, [nj !
A r= By ©) >, P
The lower boundaries of successive classes are 19.5, 29.5, 39.5 then the
class interval is [ ]
A) 10 B) 11 C) 10.5 D) 11.5
The probability of winning a prize in an event [ ]
1
A)0 B) ) C) 2 D) 1
Which of the following figure represents Angles opposite to equal sides are equal [ ]
A A A SN
ALY SR SN
B e & C & all & <
A
From the adjacent figure the value of xis A [ ]
A) 50° B) 130° "X .
C) 100° D) 80° & ra »
If probability of a certain event A is p(A) = x then p'(A) is [ ]
A) ~1 B) 1-— C) = D) 1
)~ ) 1= )~ ) 1-x
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&0 (RN (ES»
éo@i;@wé&é Sorergosdo-3 (B35-1)

S508 1 9 Hedgo
ol @ 2 Ho. 45 Q. >E -A&B 108 Sredinen 1 40
FE - A
[S)
(05 Setiyen : 30)
ATy ered (28RS
3 SIeletnta 3
R, SIS S AR Sestc $EROWEO[  edogrdo 4ot Sngo
() So. 2 81 912136 | 11] 1 5131419 10 13
HooBRe0
JoeeSden : o) ©HD (G SLH50s.

PB-A B $ow0hodS (DB warered D8y aaren JBos® (T@cHod.
PBY-A St VESenr Gotnod.

o) BHD Jrgrdsven (FPabod.

DBeerdtwe o, HEorrd (@@aod.

DER-I 5050 (& ©o88E o (Internal Choice) eoén0b.

A

ES - 1 4x1 = 4 Sr8nen
Qrdden 1 1. o) B aaraven (ol
2. (08 DD 1 Sy
-25
1. 6 o Qoggd S0l SrHo8 [TeahHos.

2. (%) Hool X' Dendd BHFSod.

(Bx°+18)p)| 930
A C
0

3. FYEn by efffine ¢ddde JTege IHAD EHFHDD.

4.  (Bobh G0z Bold SEoeHhes® B SDBBere adm 3o)od.
“Botod éospPS@ Sw&o 24”.
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10.

11.

12.

ES - 11 5x2 = 10 Hrdneo

HAE 1 1. o) BB Jrerdimen (@echod.
2. 58 D& 2 Soedpen.

— p
125 & ; (q # 0) &rHo® (TcHo&. p, q eo IeBKoggen HBAW DBEYHY (Deearosten.

X2 -6x + 8% 2 HOcH 1 oI Jenden ErIgen wHTEr 86 SoErEos.
2x? - 8X &3 ég&’wé 03H00°ee ééﬁﬁ@&méé é)gc{)azéo@wé& HEre Foder d)odl.
0.5 B0 0.55 © i Borh ©S5HD Komgernoim.

X1 (xH]) B opEs $588° orhd $3) Fo SOS08.

ES - 11 4x4 = 16 Srtpen
BT 1 1. o) BB JIrerdimen (@echod.
2. & D& 4 Soedpen.

267 B Toh Bod e KEH EEHNS H5S HKS HogPed N8,
(&)

X + 2y =5 % Tgrd@snd Achod.

& BgrdB5n08 (8odardD EHFPE808.
) x =3 odgdForr (x, y) & ad FFS.
(i) y=0odRgor (x,y) % a8 FE.

1
XY+ 7 - 3xyz = E(x+y+z)[(x—y)2+(y—z)2+(z—x)2} 2 BB,

(o)

“BoHd é?oéosp?ge) 080 a8 53?’0&0&35” @ JBPHOSoR.

:’c\_)é?gzﬁw N 859?30@ 8% $ognd) eseEosd D& 3 . HBcw e a‘gézﬁw 8 &u.re
Svntv I gblapletvote c'DU'Déme?o:é

() HEeS5n SoTSHBCHEIE LS @éy Gg) Jo 3.80.% 87.70 ond Indo B
Q0o ?
(i) & 88 3.5 0.8, ™0 Hecinod Hedos® érc’&i)ﬁw xR Dogg DoB?
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13.

(Bo)

@é&&’)&)oé’s X, Y, Z 0B
a, b, c ©® Qenden BP0,

Do &mé& 55850 308 §0.20.8%., 2 8 20.&. wond o @’Jé&eﬁo Q'sve)?gzéwzéa,
ogygéo STegnD  BHAS08.

=)

X

&)
481 -83/343 + 15332 + 225 & Sr§86os0a.
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Q0 (PTHES0
éo@i;ﬁwé&é Sorergosso-3 (BB5-1)

HBgo
S8H8 : 9 >4 - B
(H0g Srdyen : 10)
Rl SP0eT e 358 (@83
£ £ 3&)@‘5
Grees | ST TER Bodto  fssge| TUNOTRO | sk .
&) So. | 14[15(17|26]|31(32|18]|23|24(27|16]|19(22]28]19|30(20(21|25|33| 20
HooBRen
Srdden 1 1. PR-B S50 o) HHo SSrerssves (@dhod.
2. 08 DD $02050DS emrand ol @ol E 0EBHI0D (DI /NI
@PE6E® (@Pcsod.
3. ?@36@», BRerHDH Jrdnen BADED.
4. o) Do ednen Diedo.
20x1/2 = 10 S8
14, Y322 = e [ ]
1
A) 2 B) 4 Q) 6 D) 5
15. 5446 & 85800 8T8 ...cocovviee. [ ]
A) J5-6 B) 56 C) V5-6 D) 5+/6
p
16. 3.25 % ; Erd08®  HgEHBH. [ ]
REE: 5 65 o B3 o 13
17. t=-1 38 p(t) = 5 - 6t + 7 BT DeOX oo [ ]
A) -18 B) 16 C) 18 D) -16
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

101x99 & &r§E6ostod® as@rhom $ERHESD0

A) (a+b) =a’ +2ab+b’

O (a+b)(a—b) =a’ -b

‘N’ N HBSPE  DFTVHO &wé& %FS"?SO éoaJPS

A) n-1

B) n+1

Bod IS® 88y KrdoHde

A) 4B

B) 4B

P8 A Tedenotron?

A) 4

@é&&’)&)oé’s X% Densd
A) 30°

@é&a’aéooé’s X’ Qend

A) 120°

B) 3

B) 240

@é&a’aéooé’s [m, Pt

/1 = /7 & SSegeen
A) &3

C) d8ersg

2015x + 2016y = 4031 o3 &880

A) 3553

B) %Uglé’,)émp
D) Qdzross

B) Soedecho

B) (aZb) =d®—2ab+b*

D) (x+a)(x+b):x2 +(a+b)x+ab

3X +ay = 8% (2, 2) a8 ES ©ond ‘@’ DD ...ccee.....

A) 2

B) 0

22015 o0& 2015 S88» Ko ?’.gygéoag@ Voo T

A) 0

B) 4030

112

(N D)n
C) 4B D) AB
C) 2 D) 1

3x

2x° X

C) 90° D) 180°

) x°

300
C) 60° D) 90°
< 7 >
3 S S

N 7 7
............ D Ko
C) £(E3w D) &&o
C)6 D) 1
O 1 D) 2015



a8 BESHBERD 8D 44 0.0, Y Ben) woh Jowd HED Jrpor TrOKS ©

=)

29.

30.

31.

32.

33.

és(;éatg@go ............ 20.80. [ ]

A) 44 B) 22 C) 7

D) 11

mé&%?e», DHen ddrSorrerie 265(;0“326;0, Bogn) INBIPETO AQYPG .ovvveeee

A) 13 B) 3:1 C) 1:2

r=x20.8., h=yo.&., Ko éssa’ao DB Jeeego

A) 2zx(x+y) B) nx’y C) mxy

VBB SBD e B Hoes dogge OQO v

A) 15 B) 9 )0

X =2 ©o0d (x+5) (x+2) Dend .oevvevvnnnnnnn.

A) 28 B) 40 C) 20
1

Bod &t 3 V) ;603;?53&)';’.._3 deDoH Do d6?

A) I B)

D) 2:1

D) 105

D) x*+7x+10

>

o =4

0) | D)
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200 (PTHSES0
éo@i;@wé&é Sorergoso-3 (B35-11)

S8 1 9 8380
ol ¢ 2 Ko, 45 . 3"68 -A&B 21853 Srdnen 1 40
> - A
[=S]
(ﬁa‘%’g Srdyen @ 30)
ATy SEered (@8RS
4 SeBRBRE 3
oo ‘0535-@5 S Setito 55D o wldomgelo 4850t Sngo
() So. 2 8| 9| 121 13| 6 111 5 3 4 9 10 13
HooBRen
QoeeSben : . o) B¥od F°g OIMPSRIE SE5585.
2. &@-A 0% 3NRWES (DHoH 5))%25583&:6 LIPS HEBweoaDotd (FPad8lo.
3. &%}-A o Koty Dgrrren BN
4, 308B Bod Jgrrred® ERvalaty @%&@@&oéﬁg ISPV LA FVIEVGE R oAt
Qeritdndody Internal Choice LB Serddh.
5. B8 Y @) SLrprardd SA% D8 BHs.
&S - 1
B8 ¢ & Jgrifo 3o TPenrd ©&e azéseo&(‘éé). (4x1= 4%5n)

58 BHS 1 ey SerowoSadie. ~

(.~

I (5% $008° /BAC = 40°, X’ Denisi® EFS08. © $)3 Solo. o ‘
C

2. Bo TBI0OLD 2BFRD AHERDSHE Bodw 23"263&@3 Do Ko éoaﬁééé Q0es?

3. (800 a%@Es ;D Dgrad é@éé&o& zéﬁéagpmém 59 a’aééé B05°EB 505,

HooBRen 5 6 BB 7 6B
8)@5(%@ éospg 5 11 19

4. o8 JErod8 SHSpmod’d B Smwer HHIM (3x-2)° O (x+48)° eond
{30 S88 15{936%)&0688 o) Sodmed EHRPS08.
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10.

2ES - I

HAE 1 B8 Dgrifo Hoth otd (B0 aEID. o) DHD S5 NRNIB.

B8 &S 2 S780e0 BeronoSn&HE. 5x2 = 1051
A .
AABC &* /B = 90°, AD = DC, AB = BC 805 AB = 12cm. D
®ond AABD ga°ersdy EoPH08.
[5 c
D
@é& Herost A_B,E e ‘p’ Eécg ééa&ogaaoéé Dooeron. @and
il P a

AAPC =~ ABPD & J&ros08.

Eééée)é $58203°08 08K PS8 GHDBrA0T JrEed) (T @D Hrold
EDGBok.

‘Bogrsgs & fi)éuség)éoés SHRRHE Sodoe TeaHol.
Bobd el é@é&’)é?ﬁ 8otHABrHPo  (FPaol.

i) A o) X-ofo Hod 5 chedey Er8ost, Y-050008 3 credéy ErSo&® ot
BB rSo (Q,) & Ko Hord.

i) B &ohd X-ofo Hod 3 chrdey Er8ost, Y-og0 &o& 5 0.8, &r8os® sotare
BoKd arsost (Q,) Ko Hokdd.

SECTION - 111 4x4 = 16571

B8 1 1. & Jgrrsos® 4 Do Bod. 8 B wodLs wNES (Internal choice)
o, & a8 BHBH LrED BHeEEENBEWB.
2. & DB 4 Sednen BePomO[EFRE.

(8860, o TR Hoben (8o a’aéééé‘s BREIN. & 520308 ‘DT 588’ (Deviation)
& ©0ENEgENEN BP0,

DL HdorHen 5 10 15 20 | 25
(o358 6033?3)

88eg Doz 56 23 39 13 8
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11.

12.

13.

(Bo)

- — 1 —
AABC & g 8 4O © D Dooden D Hdckw E. 4 =ZAB, AE:ZAC,

DE =2 20.5 o8 BC Jendd EHFPE08.

ISEblel: 1o iﬁéoé)e)aoé’s Cotd Bren FPenrd el FTorgen No  (Bgheren SNl I
QEeH0B08.

(Bo)

28 Hodst 5 DY), 3 Do, 2 HH B 2 HoPH @oden Bod. Hod Lol a8
2008 dﬁ)téaé)aéom &oshre

a) o) Sorhe woden THEEI8 Ko HgdTPTrer $bogssr? HHoLE.

b) o) DEEFTTO DogrdgEe Iwdo Jod? D NoTedd? P
\ @
©%), $&0&® PQ = RS Hdckn LORS = 48° ‘
©owd LOPQ %80 /ROS o E5HFSE08. s
@) N
©8, $008® AB = BC £00% AC = CD. &D
wowd /BAD $00» ZADB o 580 EHfH08. S <

(™5 RS0t Bod ErHE Hotrherdd HBoHok. DD DooHen a8 3313';’.3 oSt BoHod.

A) (0, 4) B) (5, 0) C) (-3, -2) D) (2, -13) E) (2,3) F) (0, -8)

G) (3,0 H) (-3, 4) I (0, 6) ) (-6, 0) K) (2, 8) L) (-3,2)
&)

AB = 6.5 20.8, BC = 7.2 20.80 58 LA = 60° Podes® (3beo AABC % 9809,
8 HOFEeR) AGoTok.
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Q0 (PTHES0
éo@i;@wé&é Sorergosdo-3 (B35-11)

$558 : 9 Hd8o
5 - B Koy Sdnee @ 10
Rl SP0ee 358 (@8
2 V2 3&)55
Greren | SOV TER Bodto  fssge| TUNOTRO | sk .

&) So. | 14[15(17|26]|31(32|18]|23|24(27|16]|19(22]28]19]|30(20(21|25|33| 20

Eéﬁéo&@a

QedSden ¢ 1. 4B BETRBo HHo TEBHET s@ES ([E°8Eabolh wolf wiTred®

14.

15.

16.

17.

18.

19.

20.

21.

"’oacg ogoron A, B, C, D ol 6odS8%.
2. 8 BHD 1/2 Sy SErowoSEHIL.
3. o) DHOB JIrIDRDS.

§°é§3e§&», &5%36@ Soeergo8d0o BoHaEd.

Bod aA&® (HS® Oy D 6o oD [ ]

.
o

A) 4, 0) B) (0, 0) C) (-3, 0) D) (-3, -2)

a8 @Be;imo@s a7°a’s°§§seao, (W) @éé&gasaéw@ QY8 5:4 e, ©oB0°dk0 &heaeer DY

114 o 6ol & (Bheso [ ]
A) J308ers5o B) $50emes5o C) woa8s (Bghzo D) Jdsdoersso

x>0,y <0 oS (-X, y) 6o RS0 [ ]
A) Q B) Q, O Q, D) Q,

2,5,3,7, xo 5o 4 0ol X Jend Jod? [ ]
A) 2 B) 3 C) 4 D)5

Bod 8° x-JEwdBo, y-VrHBo BT Botd QEPITP SO [ ]

A) (-4, 2) B) 2, 4) O ¢ 1D D) (1, -1)

ard) e3de Daren Hde 6, 7, 8,9, 10, 6, 7, 10, 7, 6, 7, 9, 7, 6 ®@ond a50oEso

A) 6 B) 7 C)9 D) 10 [ ]
AABC & JB > BC > AC @ond @8 D80 [ ]
A) ZA B) /B C) £C D) /A, £C

D500 BYo Soad e SN AEES Boo @) wsedo [ ]

A) 358850 B) 5?}){5&36@0 C) ééaiﬁé:d)e:)aso D) &&o
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

ZS HShen 91-100 81-90 71-80 61-70

88%5Peabo DS 20 14 5 2

°5:59350
P DBE008 FIDKM 9 ™ Ko EBHEE ..o [ ]
A) 91-100 B) 81-90 C) 71-80 D) 61-70
©8), d808° LA = 50°, OA = OB ®ond x°Jend dod? Ao fa
A) 50° B) 40° C) 80° D) 100° ﬁ

e’ P

Cﬁ@o%’oé‘s $5880ke rOng?S ‘n’ 3:0:003;35 oS 253(552'%0 ]

A)( +1) S densd  B) (—) S endd C) (n+ ) S Jend D) (—— ) S Dend

@é&oaéooé’s PQ||RS Bod Bt D6 coégo

P

A) 4D|| BE B) CF || 4D

— - i Gl
C) BE||CF D) BE 1 CF * C\,p
AABC & ZA =70, BE» CF & S8dre /B $08cw /C o 3w @wééa&sspotﬁé Bgen
o Eécg o&oHEYD. woud LBOC = ... [ ]
A) 80° B) 90° Q) 115° D) 125°
0B 10 PJroposee JeD ... [ ]
A) 5.5 B) 4.5 C) s D) 6.5
EAMON a’adge"éé’s @0B5ELEN0 B dego [ ]

- 2x ~_ XX - 24, [njth

=—21 x=——2" x=A+=L "
A) ¥=— B) ¥~ Q) 7 D) 5] & Denss
Lot BB BB o) BIHS Tgen HBJI 19.5, 29.5, 39.5 wond BEKS @oBBkw
A) 10 B) 11 C) 10.5 D) 11.5 [ ]
a8 A 25008 ReviHerdH Ko Kogrgd [ ]
1

A) 0 B) 5 Q) 2 D) I

SiBob Hered® “Wirdghare ST otk Swren JSErS0” ©X) a8 (P8AGHOD

S hle) [ ]
A A P A

N Ail B) &ﬁ% €) &,ﬁx D) &zf%:
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A

32. @8 6088 x Dend &
A) 50° B) 130° x

C) 100° D) 80° © c b

33, Ao w8 @wg) Sogrdgd p(A) = x @ad p'(A) =

1 1 1
A) —-1 B) 1-— 0 - D) 1-x
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MODEL PAPER
SUMMATIVE ASSESSMENT-3

Sub : Mathematics - PART-A

Instructions :

Academic Problem Solving R&P | Communi-| 0 ection Rep | Total

Standard cation

Q.No. 2 8 91 12| 13| 6 11 1 5 3 4 9 10 13
Marks

Sub : Mathematics - PART-B

Academic AS-I AS-II  |AS-II|  AS-IV AS-V |Total
Standard

Q.No. 141 15(17(26|131132]18]23|24(27(16]19]22]128(19(30(20121|25]33( 20
Marks
Time : 2 hrs. 45 min Parts - A & B Max. Marks : 40

PART - A Max. Marks : 30

1. Read all the questions.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should write visibly and neatly.

6. There is internal choice in Section-III.

SECTION - I

Note : 1. Answer all the questions.
2. [Each question carries 1 mark.

=25
Express ? as decimal number

Find the value of ‘X’ in the figure

B

(Bx°+18)p)| 930
A C
0

What is the ratio of surface area of sphere and hemisphere ?
120

4x1 = 4 marks



10.

11.

12.

Express the below statement in a linear equation in two variables.
The sum of the two numbers is 24.

SECTION - 11 5x2 = 10 marks

Note : 1. Answer all the questions.
2. [Each question carries 2 marks.

— p
Express | 25 in the g form where q » o, p and q are integers and Co-primes

Verify whether 2 and 1 are zeroes of polynomial x* - 6x + 8.

What are the possible polynomial expressions for the dimensions of the cuboid whose volume is
2x* - 8x ?

Find two rational numbers between 0.5 and 0.55

Find the remainder when x* + 1 is divided by (x+1), using division method.

SECTION - 111 4x4 = 16 marks

Note : 1. Answer all the questions.
2. Each question carries 4 marks.

Visualise the representation of 2.6; on the number line through successive magnification upto four
decimal places.

(or)

Draw the graph of the equation
x+2y=5

From the graph find

(1)  the solution of (x, y) where x =3
(i)  the solution of (x, y) where y = 0

Verify that x>+ y + 7 - 3xyz =

_ %(x+y+z)[(x_y)2 +(y—Z)2+(Z—X)2}

(or)

Prove that the product of two odd natural numbers is odd.

A conical tent was erected by army at a base camp with height 3m. and base diameter 8m. Find

(1)  The cost of canvas required for making the tent, if the canvas cost Rs. 0.70 per one sq.m. can
be seated in the tent ?

(or)
121



13.

In the above figure, find the value of x, y, z and a, b, c.

The volume of a cylinder is 308 cm’. Its height is 8 cm. Find its lateral surface area and total surface
area.

(or)
Simplify 4./81—8.3+/343 +15.5v32 ++/225
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3

Time : 2 hrs. 45 min Parts - A & B Max. Marsk : 40

Time : 30 min

Instructions : 1.

14.

15.

16.

17.

18.

19.

20.

21.

PART - B Max. Marks : 10

Answer all the questions in Part-B

2. Each question has 4 options. Write the capital letter indicating the answer in the given
brackets.
3. Marks are not awarded for overwriting answers.
4. All questions carry equal marks.
Each question carries 1/2 mark. 20x1/2 = 10 marks
54322 T e [ ]
1
A) 2 B) 4 C) 6 D) )
Rationalising factor of \/5 + /6 is [ ]
A) J5-6 B) 5-6 C) V5-6 D) 5+/6
. 4
Express 3.25 in the form of ; [ ]
Rt 5 65 o B3 ]
) 4 ) 2 ) 40 ) 20
The value of p(t) = 5t> - 6t + 7 at t = -1 [ ]
A) -18 B) 16 O) 18 D) -16
The identity used in simplifying 101 x 99 is [ ]

A) (a+b) =a*+2ab+b’
0 (a+b)(a—b) =a’ -b

B) (a-b) =d’ ~2ab+b’

D) (x+a)(x+b):x2 +(a+b)x+ab

The number of zeroes of a polynomial of degree ‘n” will have [ ]
A) n-1 B) n+1 C) o D) n

Which of the following represents a ray [ ]
A) 4B B) 45 C) 45 D) AB

How many dimensions a solid has [ ]
A) 4 B) 3 C)2 D) 1
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Find the value of ‘x°* in the adjacent

ﬁgure 2X° x°
A) 4B B) 4B C) 4B D) AB
Find the value of ‘x’ in the adjacent )x°
figure
300
A) 120° B) 240° C) 60° D) 90°
In the adjacent figure /|| m and then the reason
for <1 - <7 these are ........... angles. \
A) adjacent B) vertically opposite 23 7 > ¢
C) alternate exterior D) alternate interior Y g >m
.
2015x + 2016y = 4031 represents a .........ccccevvveeeenn...
A) straight line B) parabola C) curved line D) circle
If (2, 2) is a solution of 3x + ay = 8, find ‘a’
A) 2 B) 0 C) 6 D) 1
The sum of the integers from -2015 to 2015 is ..............
A)0 B) 4030 O 1 D) 2015
A rectangle of length 44 cm is folded along with its breadth and formed a cylinder then radius of
the cylinder is .................. cm.
A) 44 B) 22 C)7 D) 11
The ratio of volumes of cylinder and cone having same radii and heights is ...............
A) 1:3 B) 3:1 C)1:2 D) 2:1
Find curved surface area of a cylinder having r=x cm, h=ycm s ............ sq.cm
A) 2ITx(x+y) B) Ix’y C) Ixy D) 2IIxy
Product of first three consecutive odd natural number is ...........cccecveeneeeee
A) 15 B)9 )0 D) 105
If x =2 then find the value of (x+5) (x+2)
A) 28 B) 40 C) 20 D) x*+7x+10
1
Which of the following figure represents on 3 on number line
» ) B )
3

©) o D A
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MODEL PAPER
SUMMATIVE ASSESSMENT

Sub : Mathematics - PART-B

Academic AS-I ASII  |AS-II|  ASIV ASV  |Total
Standard
Q.No. 1411517263132 18|23]|24(27|16]19(22(28]19]|30(20]|21]25[33| 20
Marks
200 (PTHH(BS»
dofirerd)s Sorergosso-3
S8H8 1 9 HB80
Tokn : 2 Ho. 45 2. > -A&B Kog Erdpee 1 40
o 2 Ho. 15 Q. FE - A 708 Srdnen : 30
Srdder 1 1. o) Dot @G SE58.
2. FH-A D D0205008 By wareano D8y aaren JBos® (T@cHod.
3. PR-A Sortd JESeore Gotnod.
4. o) D Jrerdsven (@PAod.
5. J&rprdsineod QRome, H(Eorrss (@eabod.
6. JDFS-II S0 (HEHoH ©08%E 0¥ (Internal Choice) eoé0b.
ES - 1 4x1 = 4 Srsnen
rdden 1 1. ol Bed aareven (ol

=25

2. B8 PEH 1 oy

1. 36 o Qoggd S0l SrHo8 [TahHod.

%) Deood X' Dendd EAPSod.

B

3x+18)y { 93¢
Gxe+18y,

(0]
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10.

11.

FPEsm 500 effidine edbde Soge APBI EHFHH.
Bobd &Erodel) Bod BBoeHos® BDAH SBBere s 3)od.
“Botod éospPS@ Sw&o 24”.

ES - 11 5x2 = 10 $r8neo

Note : 1. o) B Derdsmen (@°ahod.
2. (K& DB 2 Soedpen.

p
125 ; SrHos® ([GechHod. p, q e IeB[oggen HOX® q = o.

X2 -6x + 8% 2 HOc 1 ol Jenden ErIgen wHTEP B&° SoErEos.
2x? - 8X &3 éqéma’wzé $03H8°es ééﬁ@%&a)éé é)géazéocﬁwé& oHEre Foder d)odl.
0.5 %80 0.55 © S Borh ©S5HD Komgenoim.

X1 (xH]) B prEs $588° orhd $3) Fo DSOS,

ES - 11 4x4 = 16 Srtpen

Note : 1. o) B Derdsmen (@°ahod.
2. (K& D& 4 Soedpen.

267 B Toh Bod e K EEHNS H56 HKS HogPed SrHo8.

(Bo)

X + 2y =5 % Tgrd@snd Achod.

& BgrdB5n08 (8odaeD EHFPE808.
) x =3 odgdForr (x, y) & ad FFS.
(i) y=0odRgor (x,y) % a8 FF.

1
XY+ 7 - 3xyz = E(x+y+z)[(x—y)2+(y—z)2+(z—x)2} 2 BB,

(o)

“BoH é?oéosp?ge) 080 a8 53?’0&0&35” @ JBPHOSoR.
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12.

13.

:’c\_)é?gzﬁw N 859?30@ 8% $ognd) wseos® D% 3 . S8 e afgézﬁw 8 &u.re
Svntv I gblaplet Vot c(DU‘Dé.Ds?\)?é

() HEeS85n SoTSHBCHEIE LS @é) Gg) Io 3.80.% 87.70 ond Indo B
D08 ?
(i) & %88 3.5 0.8, ™ Hecinod Hedos® éP&i)ﬁ@ xR Dogg HoB?

(Bo)

Heo® x,y, z Bk
a, b, c © Qenden BP0,

Do &wé& Hod58Eme0 308 §0.20.8%., 2% 8 20.&. wond o @é&eﬁ@ Q'Bve)?gzéwzéa,
ogygéo STegnD  BHAS08.

=)

2R

&)
481 -8.3\343 +15.532 ++/225 & Sr§860508.
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Q0 (PTHES0
do(lirerd)s Sorergosso-3

S868 : 9 Fot>-Y:1e)

Todo : 2 Ko. 45 2. >%-A&B K05 Sty @ 40

oesw ¢ 30 Q. >% - B 21853 Sednen 1 10
[]

Srdden 1 1. PR-B S50 o) @Het SSrerssven (@dchod.

14.

15.

16.

17.

18.

19.

»

B8 BB V020500 warard rdoh worf E 0EBHI0D (DI /NI
@PE6E® ([@PcsHod.

3. 83w, Barglh e SHiohadd.
4. o) Dot ednen Diedo.
B8 BHD 172 Sy, 20x1/2 = 10 Sretpen
54322 T e [ ]
1
A) 2 B) 4 C) 6 D) 5
546 & o8580% 5286008 ..ooveevnnnn. [ ]
A) J5-6 B) 56 C) V5-6 D) 5+/6
P
3.25 % v B0 H5EHB . [ ]
RE o 6 SNE] NE]
= -1 38 p(t) = 5% - 6t + 7 T De0H .evvvvnenn [ ]
A) -18 B) 16 C) 18 D) -16
101x99 & $r§5BosKos® edd@rhol BSERESHmo [ ]
A) (a+b) =a*+2ab+b’ B) (a-b) =a’ —2ab+b’
O) (a+b)(a—b)za2 -b’ D) (x+a)(x+b):x2 +(a+b)x+ab
N D DOIree dTVIE BoE), EPTLO DOPY weeeeennininnnnn [ ]
A) n-1 B) n+1 C) 0 D)n
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Bod IS° 88y KrDOHIE ..ovveeeee... [ ]

A) 4B B) 45 C) 45 D) AB
P8 A Tedenotron? [ ]
A) 4 B) 3 C) 2 D) 1
3x
@é&&’)&)oé’s 1D G- 150 RN 2x 04 x° [ ]
A) 4B B) 45 C) 45 D) AB
55088 X* Qe K [ ]
30°
A) 120° B) 240° C) 60° D) 90°
@é&&’)&)oé’s [ m, Pt
<l - <7 & S oo, Seen @rH0. \ [ 1
1
“ 2 S
A) 855 B) dopiion < = >¢
2 2 6 >
C) d8erdsy D) dse08d ~ 7\’8\ 7 m
2015x + 2016y = 4031 &3 KOEBEO ...oeevveereeennnn S SeDoHdo. [ ]
A) 5883 B) Soededdo C) £(E3w D) &&o
3Xx +ay = 8% (2, 2) a8 ES ©ond ‘@’ QDD ...ccee..... [ ]
A) 2 B) 0 C) 6 D) 1
-2015 o0& 2015 S8Er Ko FrEh0ege VB0 ..vvvirveiiennen, [ ]
A) 0 B) 4030 O 1 D) 2015

28 BESHERH FEDH 44 0. TN Brey) woH Jowd HAD ‘pdore QIS ©

m‘;éwg@go ............ 0. 9. [ ]
A) 44 B) 22 C) 7 D) 11

6"53"0;@), DHen ddrJorrerie 26{;8626&), Bogn) INBIPETO QPG .vvvveee [ ]
A) 13 B) 3:1 C) 12 D) 2:1

r=x20.8., h=y20.8., Ko BPH0 (B0 BTOFO v [ ]
A) 2ITx(x + y) B) Ix’y C) Ilxy D) 2IIxy
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31.

32.

33.

NGB SBD S B Hoes Qogge OQO v

A) 15 B) 9 C) 0

X = 2 ©o0d (Xx+5) (x+2) Dend .covveevnennnnn.
A) 28 B) 40 C) 20

1
Bod &t 3 W) ;603;?53&3';’.3 $eDoH Do d6?

D) 105

D) x*+7x+10

A) . A B)
1
3

O l l l D)

o =4

D
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3 (Paper-II)

Time : 2 hrs. 45 min Parts -A & B Max. Marsk : 40
(Co-ordinate Geometry, Triangles, Statistics, Quadrilaterals, Probability, Areas, Circles, Constructions)
Time : 2 hrs. 15 min PART - A Max. Marks : 30

Instructions : Read all the questions.

1.

2. Part-A answers should be written in separate answer book.
3. There are three sections in Part-A.

4. Answer all questions.

5. Every answer should be supported with justification.

6. There is internal choice in Section-III.

SECTION - 1
Note : Each question carries 1 mark.

1. Find the value of ‘X’ in the adjacent figure ‘O’ is center of the circle.

2. What is the probability of getting two heads while tossing two coins
simultaniously at once ?

3. Write the mark wise freequencies in the following frequency distribution table.

Marks 5 upto 6 upto 7
No. of students 5 11 19

4.  The opposite angles of a parallelogram are (3x - 2)° and (x + 48)°. Find the measurement of each
angle in the parallelogram.

SECTION - 1II
A .
Note : Each question carries 2 marks.
D

5. In AABC 4B =90°, AD = DC, AB = BC and AB = 12cm.

Then find the area of AABD. & c

D

6.  In the given figure the point ‘p’ bisects AB and DC. .

Prove that AAPC = ABPD I

7. Write the formula for finding mean for a grouped data and explain its terms.

8. Write the uses of probability in daily life.
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10.

11.

12.

13.

Write the points which satisfies the statements given.
)] The point A lies at 5 cms distance from X-axis and 3 cms distance from Y-axis licing in Q,.

i)  The point B lies at 3 cms distance from X-axis and 5 cms distance from Y-axis licing in Q..
SECTION - III

Note : 1. Each question carries
2. Each question carries 4 marks.

Centuries scored and number of cricketers in the world are given below :

No. of Centuries 5 10 15 20 25

No. of Cricketers 56 23 39 13 8

Find the mean by deviation method.

(or)

1 1
ABC is a triangle. D and E are points on AB and AC such that AD = ZAB’ AE = ZAC. If

DE = 2cm then find the value of BC.

Show that the diagonals of a parallelogram divide it into four triangles of equal area.

(or)
A bag contains 5 green, 3 blue, 2 red and 2 yellow balls. One ball is drawn out randomly.
a)  Are the four different colour outcomes eqully likely? Explain.

. . e . £
b Find the sum of their probabilities. What did you observe.

In the figure PQ = RS and ZORS = 48° .
Find ZOPQ and ZROS , 3

(or)

In the adjacent figure, AB = BC and AC = CD.
Then find out the ratio of ZBAD and ZADB. S
c

Plot the points graphically. Which points lie on same line.
A) (0, 4), B) (5, 0), C) (-3, -2), D) (2, -13), E) (2, 3), F) (0, -8), G) (-3, 0), H) (-3, 4),
D) (0, 6), J) (-6, 0), K) (2, 8), L) (-3, 2)

(or)

In AABC, AB = 6.5 cm, BC = 7.2 cm and ZA = 60°. Construct AABC and also construct
circumcirle for that AABC.
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MODEL QUESTION PAPER
SUMMATIVE ASSESSMENT-3

Time : 2 hrs. 45 min

Parts - A & B

Time : 30 min PART - B

Max. Marsk : 40

Max. Marks :

Instructions : 1. Part B questions should be written in the question paper only.

2. Write capital letter of the most relevant answer in the brackets given.
3. Every question carries 1/2 mark.
4

Overwriting and corrections are not valued.

1. Which of the following is on )y in graph

10

A) (4,0) B) (0, 0) C) (3,0 D) (-3, -2)

2. If an exterior angle and its adjacent angle in the triangle are in the ratio of 5:4, and the opposite
interior angles are in the ratio of 1:4, then the triangle is [ ]
A) Isosceles B) Equilateral C) Right triangle D) Scalene

3. Ifx>0,y<0 then (-x, y) lies in [ ]
A)Q B) Q, 0 Q, D) Q,

4. Median of 2, 5, 3, 7, x is 4 then x = [ ]
A) 2 B) 3 C) 4 D) 5

5. Which of the following points absessa is more than its ordinate by 2. [ ]
A) (-4, 2) B) (2, 4) O L1 D) (1, -1)

6. 1Ife6,7,8,9,10,6,7, 10, 7,6, 7,9, 7, 6 are the sizes of shoes, then mode is [ ]
A) 6 B) 7 09 D) 10

7. Ina AABC AB > BC > AC then the smallest angle in the triangle is [ ]
A) ZA B) /B C) £C D) ZA and £C

8.  The diagonal Cross section of a cube is [ ]
A) Square B) Rectangle C) Rhombus D) Circle

9. Test Scores 91-100 81-90 71-80 61-70

Greater than 20 14 5 2
Cumulative frequency
A) 91-100 B) 81-90 C) 71-80 D) 61-70
. A &

10. From the adjacent figure the value of x° wv

A) 50° B) 40° C) 80° D) 100°
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

When the number of observation ‘n’ is odd, then the median is which observation

N 1 A1 B

If PO| RS inthe given figure then the true statement is

A) 4D || BE B) CF || 4D

C) BE||CF D) BE 1 CF

In AABC ZA =70°, BE, CF are the bisectors of /B and ZC meets at O.
Then ZBOC =
A) 80° B) 90° C) 115° D) 125°

Mean of first 10 whole numbers
A)5.5 B) 4.5 (O IR} D) 6.5

Which of the following represents mean through deviation method.

- 2x —_ XX - 2fd, n)"
_ =N St = g+ 2 n
A) x=— B) "=y O *=4ry s D)[zj

The lower boundaries of two successive classes are 19.5, 29.5, 39.5 then the
class interval is

A) 10 B) 11 C) 10.5 D) 11.5

The probability of winning a prize is

A) 0 B)% C) 2 D) 1

Which of the following represents ‘Angles opposite to equal sides are equal

A A A SN
v AN Ay o s
& C & C & C &
From the adjacent figure x is Ao
A) 50° B) 130° A’L
C) 100° D) 80° S >

If probability of a certain event A is p(A) = x then p'(A) is

A) 21 By -+ o) L D) 1
)~ )1 ) )1-x
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S888 1 9

odn 2 Jo. 45 Q.

JrlSden ¢

el A

Q0 (PTHES0
do(lirerd)s Sorergosso-3
#8380 - PAPER-II

> -A&B 0% &g @ 40
(-]

> - A 0% &g @ 28

@) BEHOD T8 OIMEIE SEBSBL.

PBY-A Soth BxES (B BB SLPEed HBB0ODH0E (AR,
&@-A 30 Ko Dererren B

IEB Bod Jgrrost ERvalaty @%&o&)&oéﬁg ESEV L ARV R oAt

Qeritdndody Internal Choice LB Serddh.
5. B8 Y @) SLrpraedd SAS D8 BHS.

HAE 1 & Dgrifo Hoth Trenrd (HEen a@EI.
(558 D 1 by BeronoSn&HE.

|5 $008° ZBAC = 40°, ‘x> Qenddo EofPdos. ‘o ] Zol&o.

255 - 1

2. B0 TBI0OD 2BXRO AHERDSHE Bodw 23"263&@3 Do Ko éoaj%éé Q0es?

3. (8ob a%@Es ;D Dgrad é@éé&o& éﬁ&&o@ém 59 a’aééé B05oEBS50Em.

Eéﬁéo&@a

5

6 8%

7 8%

8)@5(%@ éogpPS

5

11

19

4. o8 JErodY SHSpmod’d B Smwer HHIM (3x-2)° O (x+48)° eond
{30 S8 iﬁéaéoe)&oés@ o) Sodmed 8508,
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10.

2ES - I

HAE 1 B8 Dgrifo Hoth otd (B0 aEID. o) DHD S5 NRNIB.

@3@ BB 2 25?6327@3 BP0 SRS, (10 zﬁﬁéo&en)
A .
AABC &* /B = 90°, AD = DC, AB = BC 805 AB = 12cm. D
®ond AABD ga°ersdy E0PH08.
[5 c
b
@é& Herost A_B,E e ‘p’ Eécg ééa&ogaaoéé Dooeron. @and
il P a

AAPC =~ ABPD & J&ros08.

[

Eééée)é $58203°08 08K PS8 GHDBrA0T JrEed) (T @D Hrold
EDGBok.

‘Bogrsg® & DEQB0SE SHBrKsHE SotSonedn oeabod.
Bobd el é@é&’)é?ﬁ 8otHABrHPo  (FPaol.

i) A o) X-ofo Hod 5 chedey Er8ost, Y-050008 3 credéy ErSo&® ot
BB FBos® Ko Hodd Q,.

i) B &ohd X-ofo Hod 3 chrdey Er8oet, Y-©go &o& 5 0.8, &r8os® sotare
Bokd o8t Ko Hotdd Q..

SECTION - III (16 S&ye)

B8 1 1. & grsos® 4 e Bod. 8 B wodLs wNES (Internal choice)
o, & a8 BEHBH LrED BHrEEENBWS.
2. & D 4 Sednen BePomOBEFRE.

(8860, o TR HoiPen (8o a’aéééé‘s BREID. & 520308 ‘DT 588’ (Deviation)
& ©0ENEgENEN BP0,

DL HdorHen 5 10 15 20 | 25
(Ro35be 60813?3)

88eg Doz 56 23 39 13 8
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11.

12.

13.

(Bo)

- 11—
AABC & g 8 4O © D Dooden D Hdckw E. 4 :ZAB’ AE:ZAC’
DE =2 20.5 o8 BC Jendd EHFPE08.
ISEblel: 1o iﬁéoé)e)aoé’s Cotd Bren FPenrd el FTorgen No  (Bgheren SNl I
Flebkotnleln s
(Bo)

28 Hodst 5 DY), 3 Do, 2 HH B 2 HoPH @oden Bod. Hod Lol a8
2008 dﬁ)téaé)aéom &oshre

a) o) Sorhe woden THEEI8 Ko HgdTPTrer $bogssr? HHoLE.

b) o) DEEFTTO DogrdgEe Iwdo Jod? D NoTedd? R

$%) He008° PQ = RS bcw LORS = 48° § @

wond LOPQ 86 LROS o S5fKod, 5

(o)
©%), He0e® AB = BC &8aw AC = CD. &
D
©wond /BAD %80 ZADB © 80 EirSod. <

(™5 RS0t Bod ErHE Hotrherdd HBoHok. DD DooHen a8 3313';’.3 oSt BoHod.

A) (0, 4) B) (5, 0) C) (-3, -2) D) (2, -13) E) (2,3) F) (0, -8)

G) (3,0 H) (-3, 4) I (0, 6) ) (-6, 0) K) (2, 8) L) (-3,2)
&)

AB = 6.5 20.8, BC = 7.2 20.80 58 LA = 60° Podes® (3beo AABC % 9809,
8 HOFEeR) AGoTok.
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Q0 (PTHES0
do(lirerd)s Sorergosso-3
S8H8 : 9 #8380 - PAPER-II

>5 - B Kog e @ 10

SedSden ¢ 1. >%-B BETRBS BHo TEBDHET s¥@ES [E°8eabokh wolf witred®
"’oacg ogoron A, B, C, D ol 6ods8%.
2. 3 OB 1/2 Sy SErowoSEHI6.
3. o) DHOB DIrIDRDS.
§°é§3e§@, &%36’5&» Soeergo8do BoHaEd.

1. (Bod @A (HS® gy D G0 Hotdd [ ]
A) (4, 0) B) (0, 0) O) (-3, 0) D) (-3, -2)

2. a8 @%a&oé’s a7°<{3°§§ssao, () @é?é&%'seazéwe» 5:4 ey, @osoeddng Seren 1:4 o

&o&d & (Bheso [ ]
A) B308ers50 B) $50emes50 C) w08 (Bghzo D) Ddsdoerss

3. x>0,y <0 ®owd (-X, y) 6o Ko [ ]
A)Q B) Q, O Q, D) Q,

4. 2,5 3,7, xo zﬁoc‘ééﬁw 4 ®00d X NN DoeB? [ ]
A)2 B) 3 C) 4 D)5

5. ([Bod a0 x-JErdBo, y-RErHEo BT Botdh RS &) [ ]

A) (-4, 2) B) (2,4 O ¢L 1D D) (1, -1)

6. ard ade Daren Hde 6, 7, 8,9, 10, 6, 7, 10, 7, 6, 7, 9, 7, 6 ®ond a50¥so

A) 6 B) 7 C) 9 D) 10 [ ]
7. AABC & g > BC > AC ®@owd ©8 D380 [ ]
A) ZA B) /B C) £C D) ZA, «C
8. N0zhddnd B8o Joal eidre 855 & 8o Qg ese80 [ ]
A) 3580850 B) 5?»5&6@0 C) ééaiﬁéé)d)e:)aso D) &&o
9. IS Hdrhen 91-100 81-90 71-80 61-70
6680 20 14 5 2
°5: 5950
A) 91-100 B) 81-90 C) 71-80 D) 61-70
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

% 56088 LA = 50°, OA = OB @onsd x°Devs Dos? A wv
A) 50° B) 40° C) 80° D) 100°

el D
CS@_';ofB’oé‘S $880de éoap?g ‘n’ 3?060&35 ©OoNS Eﬁaégﬁéo [ ]
n th n+l th 1 th n th
A) E+l S Jewd  B) BN S dewd C) n+§ S Jend D) 5—1 S Dend

©85008° PO || RS Bod o8 D& S50 [ ]

A) 4D || BE B) CF || 4D
C) BE || CF D) BE LCF S
D
In AABC &° ZA =70, BE> CF &0 3833 /B 080 ZC o &) @wé&&&s&aoéé Bgen
o Eécg o&oHEYD. wond LBOC = ... [ ]
A) 80° B) 90° Q) 115° D) 125°
0B 10 PJroposee JeN ... [ ]
A)5.5 B) 4.5 C)5 D) 6.5
QB a’acgé’éeSs 080 B drgo [ ]
- 2x ~_ XX - 2/, [njth
=— xX=—_=-" x=A+=- n
A= By ©) >, P
5ot SHD ESKGO D) DS eeen I 19.5, 29.5, 39.5 @ownd K980
A) 10 B) 11 C) 10.5 D) 11.5 [ ]
a8 5008 Rentherd Ko Dogrsyd [ ]
1

A) 0 B) 5 Q)2 D) I
SiBob Hered® “Whrdghare ST ot Swren JSErS0” ©X) PS8 (P8AGHOD
S hle) [ ]

A A A . A
v AN A o

B e & C & all & <
5] He08°% x Densd A [ ]
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